BIOLOGY

BOOKS - MODERN PUBLISHERS BIOLOGY
(HINGLISH)

ECOSYSTEM

Practice Problems Ecosystem Structure And Function

1. Name two types of components of ecosystem.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HPMZWh979IZV
https://dl.doubtnut.com/l/_TmjogAzYK5tL

2. Who gave the term ecosystem ?

o Watch Video Solution

3. Who called the ecosystem as biogeocoenosis ?

° Watch Video Solution

4. Name three functional kingdoms of an ecosystem.

° Watch Video Solution

5. What are the abiotic components of an ecosystem .

| =


https://dl.doubtnut.com/l/_TmjogAzYK5tL
https://dl.doubtnut.com/l/_sfeEqdzV5c5U
https://dl.doubtnut.com/l/_mLOsNmXV1tMZ
https://dl.doubtnut.com/l/_cedoNj13XJr0

| €@ Watch Video Solution

6. Why are the producers called transducers ?

o Watch Video Solution

7. Name some primary consumers of an aquatic

ecosystem.

o Watch Video Solution

8. What is significance of decomposers in an

ecosystem.

| = 1


https://dl.doubtnut.com/l/_cedoNj13XJr0
https://dl.doubtnut.com/l/_S0pfB5bT9qwa
https://dl.doubtnut.com/l/_f3W1ezH8Q2Pq
https://dl.doubtnut.com/l/_LJUhrv2C2Wwr

o Watch Video Solution

9. Define stratification.

o Watch Video Solution

10. Name different strata in an aquatic ecosystem.

o Watch Video Solution

11. Give the significance of stratification.

o Watch Video Solution



https://dl.doubtnut.com/l/_LJUhrv2C2Wwr
https://dl.doubtnut.com/l/_2eIKHhFZL1GA
https://dl.doubtnut.com/l/_KiEETdHaUhrw
https://dl.doubtnut.com/l/_zXCqSjKcVUKl
https://dl.doubtnut.com/l/_7HgOQnkfn8MT

12. Why are the tropical rain forests most productive ?

° Watch Video Solution

13. Give another term for apparent photosynthesis.

° Watch Video Solution

14. What is the basic requirement of an ecosystem to

function and sustain ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7HgOQnkfn8MT
https://dl.doubtnut.com/l/_xs6RioMU6jzO
https://dl.doubtnut.com/l/_blVvJf7NWKre

15. Name the factors which affect the primary

productivity .

° Watch Video Solution

16. List the important structural characteristics of an

ecosystem.

° Watch Video Solution

17. What are various steps of decomposition process ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TfP0skNKHTIx
https://dl.doubtnut.com/l/_381RBDoZgSob
https://dl.doubtnut.com/l/_fIuHBYsvbzOG

18. Give the significance of decomposition.

° Watch Video Solution

19. Which factors determine the rate of decomposition

?

o Watch Video Solution

20. Give the term for the organic matter in the initial

stage of decomposition.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bo5LOKHTxSOG
https://dl.doubtnut.com/l/_ZHbxDira18B3
https://dl.doubtnut.com/l/_owC135mFZCqv

21. Give a classic example of ecosystem.

° Watch Video Solution

22. Name some primary consumers of a pond

ecosystem.

o Watch Video Solution

23. List two types of decomposers.

o Watch Video Solution



https://dl.doubtnut.com/l/_20KOyP3sBwNC
https://dl.doubtnut.com/l/_n9JhBE27azWo
https://dl.doubtnut.com/l/_8S7pP253LNqz

24. What are anthropogenic ecosystem ?

° Watch Video Solution

25. Define microphytes.

o Watch Video Solution

Practice Problems Ecosystem Characteristics

Ecosystem

1. Name a classic example of an ecosystem.

o Watch Video Solution



https://dl.doubtnut.com/l/_EgQDox2lSkz8
https://dl.doubtnut.com/l/_bezUFEPa05DZ
https://dl.doubtnut.com/l/_pTqfrTFwobDJ

2. What is trophic level ?

° Watch Video Solution

3. What type of organisms belong to 77 and 15 trophic

levels of food chain ?

o Watch Video Solution

4. Give the term for a series of trophic levels showing

repeated eating.

o Watch Video Solution



https://dl.doubtnut.com/l/_pTqfrTFwobDJ
https://dl.doubtnut.com/l/_VXQ36crtjkrw
https://dl.doubtnut.com/l/_1smVaLKmku3A
https://dl.doubtnut.com/l/_siokhJYl02FK

5. What is the primary source of energy in a detritus

food chain ?

o Watch Video Solution

6. Give the term for the network of interconnected

food chains.

o Watch Video Solution

7.What is the significance of a food web ?

o Watch Video Solution



https://dl.doubtnut.com/l/_siokhJYl02FK
https://dl.doubtnut.com/l/_StCmhhGxnZ6d
https://dl.doubtnut.com/l/_VGjBqe4ledfu
https://dl.doubtnut.com/l/_UQkBNvRSRZ0S

8. What is energy conserving efficiency of modern crop

systems ?

o Watch Video Solution

9. Show the relationship between gross primary

productivity and net primary productivity .

o Watch Video Solution

10. Define bioenergetics.

° Watch Video Solution



https://dl.doubtnut.com/l/_UQkBNvRSRZ0S
https://dl.doubtnut.com/l/_IRmJu1WObMAY
https://dl.doubtnut.com/l/_hzDa2H1mCS5g
https://dl.doubtnut.com/l/_x81PNRFmwwQG

11. Who proposed the ecological pyramids ?

o Watch Video Solution

12. Which ecological pyramid is always straight ?

° Watch Video Solution

13. Define biomass.

° Watch Video Solution



https://dl.doubtnut.com/l/_x81PNRFmwwQG
https://dl.doubtnut.com/l/_HLh4814XdD9s
https://dl.doubtnut.com/l/_JTykyZQt2cTn
https://dl.doubtnut.com/l/_bo5xEmJTeiSA

14. What do you mean by cohabitation ?

° Watch Video Solution

15. Define an ecological niche.

o Watch Video Solution

16. What is the significance of ecological niche ?

o Watch Video Solution

17. What is 10 per cent law ?


https://dl.doubtnut.com/l/_GGbJwICB2Cy9
https://dl.doubtnut.com/l/_5apanMIkXUBz
https://dl.doubtnut.com/l/_gbE0Whbav7Hp
https://dl.doubtnut.com/l/_o8SYVWlG5H7e

° Watch Video Solution

18. Who proposed 10 per cent law ?

° Watch Video Solution

19. Who gave the term ecological niche ?

° Watch Video Solution

20. Define ecological efficiency.

o Watch Video Solution



https://dl.doubtnut.com/l/_o8SYVWlG5H7e
https://dl.doubtnut.com/l/_q0EBVw5p7A5f
https://dl.doubtnut.com/l/_aEBDHPfEODHR
https://dl.doubtnut.com/l/_lOwgjsDjU3Gj

Practice Problems Characteristics Of Ecosystem

1. What is pioneer community ?

o Watch Video Solution

2. Define 'sere'.

° Watch Video Solution

3. What is autogenic succession ?

o Watch Video Solution



https://dl.doubtnut.com/l/_JIGxBZN6e9NI
https://dl.doubtnut.com/l/_xW23De0x5w0X
https://dl.doubtnut.com/l/_of1TXFJGx2Lv
https://dl.doubtnut.com/l/_pw7cGboROEwZ

4. What is heterotrophic succession ?

° Watch Video Solution

5. How much time taken to form climax community in

grassland and forest.

° Watch Video Solution

6. Define hydrosere.

o Watch Video Solution



https://dl.doubtnut.com/l/_pw7cGboROEwZ
https://dl.doubtnut.com/l/_MKPSbiV8CYDJ
https://dl.doubtnut.com/l/_JMAPfahuadeO

7. Give some examples of rooted floating stage.

° Watch Video Solution

8. What is crustose lichens stage ?

o Watch Video Solution

9. Give alternative name for reed swamp stage.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZR4Vegc5Cx2O
https://dl.doubtnut.com/l/_bZduEsutmh5R
https://dl.doubtnut.com/l/_CBbEosHCLXrQ

10. Write one important characteristic of ecological

succession.

° Watch Video Solution

11. What is psammosere ?

° Watch Video Solution

12. What is halosere ?

o Watch Video Solution



https://dl.doubtnut.com/l/_thhbPLvvk0Yo
https://dl.doubtnut.com/l/_ZgrdmtKxY2ic
https://dl.doubtnut.com/l/_kcvRcPA3Mm1A

13. Give the term for last and stable community of area.

° Watch Video Solution

14. List the various communities of xerosere (lithosere)

o Watch Video Solution

Practice Problems Ecosystem Biosphere

1. Define biosphere.

o Watch Video Solution



https://dl.doubtnut.com/l/_IYnH9HPVUw6Y
https://dl.doubtnut.com/l/_6a20tTAffmjc
https://dl.doubtnut.com/l/_hoNc1wVLETqH

2. What is are three components of biosphere?

° Watch Video Solution

3. What is extent of biosphere ?

o Watch Video Solution

4. List two basic requirements for the survival of life in

the biosphere.

° Watch Video Solution



https://dl.doubtnut.com/l/_u8jYXJGPxZX6
https://dl.doubtnut.com/l/_HTFTzSPAgLrF
https://dl.doubtnut.com/l/_MyNt1fbb5aIF

5. Why is earth called closed system with reference to

materials ?

° Watch Video Solution

6. What are biogeochemical cycles ?

o Watch Video Solution

7.Name two types of biogeochemical cycles ?

° Watch Video Solution



https://dl.doubtnut.com/l/_cEYOCW6u4luj
https://dl.doubtnut.com/l/_MsQlsqHXffqP
https://dl.doubtnut.com/l/_vM1JVXtp93mS

8. Why is phosphorus cycle called an imperfect cycle ?

° Watch Video Solution

9. What is global sink of CO, ?

o Watch Video Solution

10. Why are carbon and nitrogen cycles called gaseous

cycles ?

° Watch Video Solution



https://dl.doubtnut.com/l/_9OYQ9fN9mool
https://dl.doubtnut.com/l/_uk6g9E2ncvau
https://dl.doubtnut.com/l/_KDJ24UwAtxYK

1. At which rate , COy , is being utilized

photosynthesis by the producers ?

° Watch Video Solution

12. What is nitrification ?

o Watch Video Solution

13. Name two denitrifying bacteria.

° Watch Video Solution



https://dl.doubtnut.com/l/_pTYBPvp85tAr
https://dl.doubtnut.com/l/_NoIPGLY5E1Zu
https://dl.doubtnut.com/l/_pB2vH8K7vewK

14. Name two symbiotic IV, - fixing bacteria.

o Watch Video Solution

15. Name two free living N, - fixing bacteria.

o Watch Video Solution

16. What is significance of phytoagglutinin ?

o Watch Video Solution

17. Which enzyme is involved in IV; fixation ?


https://dl.doubtnut.com/l/_Vh25ICpAfvWG
https://dl.doubtnut.com/l/_fnXhljBW9IWz
https://dl.doubtnut.com/l/_1wjQZh6H8NUx
https://dl.doubtnut.com/l/_ZvJPa7YS1nuD

o Watch Video Solution

18. Explain the 10% law.

° Watch Video Solution

19. Who proposed the 10% law ?

° Watch Video Solution

20. What are greenhouse gases ? Name two GHGs.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZvJPa7YS1nuD
https://dl.doubtnut.com/l/_8VAcEQGK3twt
https://dl.doubtnut.com/l/_MtIfBo7IjH2f
https://dl.doubtnut.com/l/_K6MHEtmIBPqP

21. Define biome.

° Watch Video Solution

22. Give the term for the transitional zone between the

adjacent biomes.

o Watch Video Solution

23. Name the main longitudinal biomes.

o Watch Video Solution



https://dl.doubtnut.com/l/_UCqUnxGSXvL6
https://dl.doubtnut.com/l/_2Pxq6sYD3AJ9
https://dl.doubtnut.com/l/_a41kThRwEiZq

24. Which biome is characterized by permafrost ?

o Watch Video Solution

25. Where are Taiga found in India ?

o Watch Video Solution

26. Where are tropical rain forests found in India ?

o Watch Video Solution

27. Give the productivity of tropical rain forests.


https://dl.doubtnut.com/l/_rkrWdYgWRp4K
https://dl.doubtnut.com/l/_nGvnSNEtZtrB
https://dl.doubtnut.com/l/_5Kar3x0LQHFL
https://dl.doubtnut.com/l/_AnGV236VnyMK

° Watch Video Solution

28. Give the distribution of kangaroos in Australia.

° Watch Video Solution

29. Name the grain - producing and cattle - raising

areas.

° Watch Video Solution

30. Name the temperate grasslands of Canada and

South America.


https://dl.doubtnut.com/l/_AnGV236VnyMK
https://dl.doubtnut.com/l/_UWwUNxZJdTO5
https://dl.doubtnut.com/l/_8rS71tRPZ7Yj
https://dl.doubtnut.com/l/_wmWX3NRdrap4

° Watch Video Solution

31. Name the deserts of India and Africa.

o Watch Video Solution

32. What is alpine tundra ?

° Watch Video Solution

33. Give the term for the basal region of a tropical

mountain range in India.

° Watch Video Solution



https://dl.doubtnut.com/l/_wmWX3NRdrap4
https://dl.doubtnut.com/l/_f83RztGSxc2K
https://dl.doubtnut.com/l/_gscnJ5F4ygrv
https://dl.doubtnut.com/l/_n7IOZaED9Q9U

34. Which sea has maximum salt concentration ?

° Watch Video Solution

35.What is shape of a marine ecosystem ?

o Watch Video Solution

36. What is continental shelf ?

o Watch Video Solution



https://dl.doubtnut.com/l/_n7IOZaED9Q9U
https://dl.doubtnut.com/l/_AIS6WdMNtuC9
https://dl.doubtnut.com/l/_AO7IwyI7DV8d
https://dl.doubtnut.com/l/_DmUW2SQtANnZ
https://dl.doubtnut.com/l/_R9jnkNrelZ0O

37. Name the three types of organisms found in a

marine ecosystem.

o Watch Video Solution

38. What is abyssal zone in a marine ecosystem ?

o Watch Video Solution

39. Name the most productive and most diverse part

of coastal region.

o Watch Video Solution



https://dl.doubtnut.com/l/_R9jnkNrelZ0O
https://dl.doubtnut.com/l/_pJvUtSNXbXhj
https://dl.doubtnut.com/l/_0QhzGg1QuEzz
https://dl.doubtnut.com/l/_NQldP6wPKqsV

40. Give the term for the stagnant inland water bodies.

o Watch Video Solution

41. Which ecosystems are called backbone of entire

civilization ?

o Watch Video Solution

42.What are cryophytes ?

° Watch Video Solution

43. What is timber line ?


https://dl.doubtnut.com/l/_NQldP6wPKqsV
https://dl.doubtnut.com/l/_WCZjg3EgBRZW
https://dl.doubtnut.com/l/_8PwcXLpf6JHN
https://dl.doubtnut.com/l/_fbyAma4S1f4C

° Watch Video Solution

44, Give the term for the study of fresh water bodies.

° Watch Video Solution

45, Which forests are also called monsoon frosts ?

° Watch Video Solution

Ncert File Solved Ncert Exercise Questions


https://dl.doubtnut.com/l/_fbyAma4S1f4C
https://dl.doubtnut.com/l/_fosnSqrUsOWi
https://dl.doubtnut.com/l/_IGRQjXeX9lF6

1. Fill in the blanks :
Plants are called as ... because they can fix carbon

dioxide .

° Watch Video Solution

2.Fill in the blanks :
In ecosystem dominated by trees, the pyramid (of

number) is ... type .

° Watch Video Solution



https://dl.doubtnut.com/l/_BlxASbF5HBiJ
https://dl.doubtnut.com/l/_9MQqfXaiC4Zs

3. Fill in the blanks :
In aquatic ecosystems, the limiting factor for the

productivity is ...

° Watch Video Solution

4. Fill in the blanks :

Common detritivores in our ecosystem are ..........

° Watch Video Solution

5. Fill in the blanks :

The major reservoir of carbon on Earth is ...



https://dl.doubtnut.com/l/_Ha32cabJyDHM
https://dl.doubtnut.com/l/_hoPbqKZffY15
https://dl.doubtnut.com/l/_pnL4nVMPvWfx

o Watch Video Solution

6. Which one of the following has the largest

population in a food chain ?

A. Producers

B. Primary consumers

C. Secondary consumers

D. Decomposers

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_pnL4nVMPvWfx
https://dl.doubtnut.com/l/_X9ebU3oe9TN3
https://dl.doubtnut.com/l/_PbYqUX1B1JzS

7.Second most important trophic level in a lake is

A. Phytoplanktons

B. Zooplanktons

C. Benthos

D. Fishes

Answer: B

° Watch Video Solution

8. Secondary producers are :

A. Herbivores


https://dl.doubtnut.com/l/_PbYqUX1B1JzS
https://dl.doubtnut.com/l/_0pUnjDqwvHRt

B. Producers

C. Carnivores

D. None of the above

Answer: A

° Watch Video Solution

9. Percentage of photosynthetically active radiation

(PAR) in the incident solar radiation is

A. 100 %

B. 50 %

C.1-5%


https://dl.doubtnut.com/l/_0pUnjDqwvHRt
https://dl.doubtnut.com/l/_LatbBVaUFC86

D.2—-10%

Answer: D

o Watch Video Solution

10. Distinguish between

(a) Grazing food chain and detritus food chain
(b) Production and decomposition

(c) Upright and inverted pyramid

(d) Food chain and Food web

(e) Litter and detritus

(f) Primary and secondary productivity .

o Watch Video Solution



https://dl.doubtnut.com/l/_LatbBVaUFC86
https://dl.doubtnut.com/l/_ICMZvEhIW5NK

11. Describe the components of an ecosystem.

o Watch Video Solution

12. Define ecological pyramids and describe with

examples, pyramids of number and biomass.

o Watch Video Solution

13. What is primary productivity? Give brief description

of factors that affect primary productivity

° Watch Video Solution



https://dl.doubtnut.com/l/_ICMZvEhIW5NK
https://dl.doubtnut.com/l/_BQh3Ly7zlZot
https://dl.doubtnut.com/l/_5TYukcPyzdLZ
https://dl.doubtnut.com/l/_KTB7qx1j39cp

14. Define decomposition and describe the processes

and products of decomposition.

° Watch Video Solution

15. Give an account of energy flow in an ecosystem.

o Watch Video Solution

16. Write important features of a sedimentary cycle in

an ecosystem.

o Watch Video Solution



https://dl.doubtnut.com/l/_KTB7qx1j39cp
https://dl.doubtnut.com/l/_9zz1ePflBYHJ
https://dl.doubtnut.com/l/_Awl2QvG9siU7
https://dl.doubtnut.com/l/_5msef1DwZZdA

17. Outline salient features of carbon cycling in an

ecosystem

° Watch Video Solution

Ncert Exemplar Problems A Multiple Choice Questions

1. Decomposers like fungi and bacteria are
Choose the correct answer :

(i) Autotrophs

(i1) Heterotrophs

(iii) Saprotrophs


https://dl.doubtnut.com/l/_5msef1DwZZdA
https://dl.doubtnut.com/l/_ZkJia1kxtGfF
https://dl.doubtnut.com/l/_EWS1ZB0qCirx

(iv) Chemo-autotrophs

Choose the correct answer:

A. (i) and (iii)

B. (i) and (iv)

C. (ii) and (iii)

D. (i) and (ii)

Answer: C

o Watch Video Solution

2. The process of mineralisation by microorganisms

helps in the relase of


https://dl.doubtnut.com/l/_EWS1ZB0qCirx
https://dl.doubtnut.com/l/_0sJDfMcFp2F6

A.inorganic nutrients from humus

B.both organic and inorganic nutrients from

detritus

C. organic nutrients from humus

D. inorganic nutrients from detritus and formation

of humus.

Answer: A

° Watch Video Solution

3. Productivity is the rate of production of biomass

expressed in terms of


https://dl.doubtnut.com/l/_0sJDfMcFp2F6
https://dl.doubtnut.com/l/_6BQMxBEWhQeK

(i) (kcalm _3) yr- 1
(i) g yr !

(iii) g ~'yr ' (iv) (kealm ) yr

A. (i)

B. (iii)

C. (ii) and (iv)

D. (i) and (iii)
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6BQMxBEWhQeK

4. An inverted pyramid of biomass can be found in

which ecosystem

A. Forest

B. Marine

C. Grassland

D. Tundra

Answer: B

o Watch Video Solution

5. Which of the following is not a producer ?


https://dl.doubtnut.com/l/_6qU5m67Ik7AJ
https://dl.doubtnut.com/l/_rroc9PAcoIqp

A. Spirogyra

B. Agaricus

C. Volvox

D. Nostoc

Answer: B

° Watch Video Solution

6. Which of the following ecosystems is most

productive in terms of net primary production?

A. Deserts

B. Tropical rain forests


https://dl.doubtnut.com/l/_rroc9PAcoIqp
https://dl.doubtnut.com/l/_X0TJW16jfvp0

C. Oceans

D. Estuaries

Answer: B

° Watch Video Solution

7. Pyramid of numbers is

A. Always upright

B. Always inverted

C. Either upright or inverted

D. Neither upright nor inverted


https://dl.doubtnut.com/l/_X0TJW16jfvp0
https://dl.doubtnut.com/l/_QFNoAVJATEkO

Answer: C

° Watch Video Solution

8. Approximately how much of the solar energy that

falls on the leaves of a plant is converted to chemical

energy by photosynthesis

A. Less than 1 %

B.2 —10%

C.30 %

D. 50 %

Answer: B


https://dl.doubtnut.com/l/_QFNoAVJATEkO
https://dl.doubtnut.com/l/_mniTkQ8S4vcp

° Watch Video Solution

9. Among the following , where do you think the

process of decomposition would be the fastest ?

A. Tropical rain forest

B. Antarctic

C. Dry arid region

D. Alpine region

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mniTkQ8S4vcp
https://dl.doubtnut.com/l/_fHzPpBe8pSsG
https://dl.doubtnut.com/l/_SCXXEGKamECn

10. How much of the net primary productivity of a

terrestrial ecosystem is eaten and digested by

herbivores ?

A 1%

B.10 %

C.40 %

D. 90 %

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SCXXEGKamECn

11. During the process of ecological succession the

changes that take place in communities are

A. Orderly and sequential

B. Random

C. Very quick

D. Not influenced by the physical environment

Answer: A

° Watch Video Solution

12. Climax community is in a state of


https://dl.doubtnut.com/l/_f3LId92vvVOb
https://dl.doubtnut.com/l/_L872HMXyqtfo

A. non - equilibrium

B. equilibrium

C.disorber

D. constant change

Answer: B

° Watch Video Solution

13. Among the following biogeochemical cycles, which

one does not have losses due to repiration?

A. Phosphorus

B. Nitrogen


https://dl.doubtnut.com/l/_L872HMXyqtfo
https://dl.doubtnut.com/l/_R3wZNZIrIImq

C. Sulphur

D. All of the above

Answer: D

° Watch Video Solution

14. The sequence of communities of primary

succession in water is

A.phytoplankton , sedges, free - floating

hydrophytes, rooted hydrophytes , grasses and

trees.


https://dl.doubtnut.com/l/_R3wZNZIrIImq
https://dl.doubtnut.com/l/_uM6Xhu46uuc2

B. phytoplankton, free - floating hydrophytes,

rooted hydrophytes , sedges, grasses and trees.

C.free - floating hydrophytes, sedges |,

phytoplankton, rooted hydrophytes , grasses and

trees.

D. phytoplankton , rooted submerged hydrophytes,

floating hydrophytes, reed swamp , sedges ,

meadow and trees.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uM6Xhu46uuc2

15. The reservoir for the gaseous type of

biogeochemical cycle exists in

A. stratosphere

B. atmosphere

C.ionosphere

D. lithosphere

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9xgbTsTNqo9U

16. If the carbon atoms fixed by producers already have

passed through three species, the trophic level of the

last species would be

A. scavenger

B. tertiary producer

C. tertiary consumer

D. secondary consumer

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jKDMnXHKMQBS

17. Which of the following type of ecosystem is

expected in an area where evaporation exceeds

precipitation, and mean annual rainfall is below

100mm:

A. Grassland

B. Shrubby forest

C. Desert

D. Mangrove

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_RBNVnB1qw7x8
https://dl.doubtnut.com/l/_s1A9NiXoK4MT

18. The zone at the edge of a lake or ocean which is

alternatively exposed to air and immersed in water is

called

A. Pelagic zone

B. Benthic zone

C. Lentic zone

D. Littoral zone

Answer: D

o Watch Video Solution

19. Edaphic factor refers to


https://dl.doubtnut.com/l/_s1A9NiXoK4MT
https://dl.doubtnut.com/l/_S83TPuJCdVlO

A. Water

B. Soil

C. Relative humidity

D. Altitude

Answer: B

° Watch Video Solution

20. Which of the following is an ecosystem service

provided by a natural ecosystem?

A. Cycling of nutrients

B. Prevention of soil erosion


https://dl.doubtnut.com/l/_S83TPuJCdVlO
https://dl.doubtnut.com/l/_p0ZB5rQJU610

C. Pollutant absorption and reduction of threat of

global warming

D. All of these

Answer: D

o Watch Video Solution

Ncert Exemplar Problems B Very Short Answer Type

Questions

1. Name an organism found as secondary carnivore in

an aquatic ecosystem.

° Watch Video Solution



https://dl.doubtnut.com/l/_p0ZB5rQJU610
https://dl.doubtnut.com/l/_nuQ1QE70jfsm

2. What does the base tier of the ecological pyramid

represent ?

° Watch Video Solution

3. Under what conditions would a particular stage in
the process of succession revett back to an earlier

stage?

o Watch Video Solution



https://dl.doubtnut.com/l/_nuQ1QE70jfsm
https://dl.doubtnut.com/l/_Q6txGJaAwWBp
https://dl.doubtnut.com/l/_VpXjXvEztBI0

4. Arrange the following as observed in Vertical
stratification of a forest, Grass, Shrubby plants, Teak,

Amaranths.

° Watch Video Solution

5. Name an omnivore which occurs in both grazing

food chain and the decomposer food chain.

° Watch Video Solution

6. Justify the pitcher plant as a producer.

° Watch Video Solution



https://dl.doubtnut.com/l/_ylZaM7cWsROd
https://dl.doubtnut.com/l/_ood4nTpRaMb7
https://dl.doubtnut.com/l/_CJHX21HFjrdd

7. Name any two organisms which can occupy more

than one trophic level in an ecosystem.

° Watch Video Solution

8.In the North East region of India, during the process
of jhum cultivation, forests are cleared by burning and
left for regrowth after a year of cultivation. How would

you explain the regrowth of forest in ecological term?

° Watch Video Solution



https://dl.doubtnut.com/l/_CJHX21HFjrdd
https://dl.doubtnut.com/l/_bwa46xIcUBJX
https://dl.doubtnut.com/l/_RHOadmYdnzHi

9. Climax stage is achieved quickly in secondary

succession as compared to primary succession. Why?

° Watch Video Solution

10. Among bryophytes, lichens and fern which one is a

pioneer species in a xeric succession?

° Watch Video Solution

11. What is the ultimate source of energy for the

ecosystems?

° Watch Video Solution



https://dl.doubtnut.com/l/_oUdbGC4gnypC
https://dl.doubtnut.com/l/_le8Rpn5NZrLw
https://dl.doubtnut.com/l/_MmBpObHKSgpc

12.Is the common edible mushroom an autotroph or a

heterotroph?

° Watch Video Solution

13. Why are oceans least productive?

° Watch Video Solution

14. Why is the rate of assimilation of energy at the

herbivore level called secondary productivity?

° Watch Video Solution



https://dl.doubtnut.com/l/_MmBpObHKSgpc
https://dl.doubtnut.com/l/_6KoEM2lldBlh
https://dl.doubtnut.com/l/_e1Pr4kTSnwWu
https://dl.doubtnut.com/l/_FL4pdzJl2sIX

15. Why are nutrient cycles in nature

biogeochemical cycles?

called

o Watch Video Solution

16. Give any two examples of xerarch succession.

° Watch Video Solution

17. Define self sustainability

° Watch Video Solution



https://dl.doubtnut.com/l/_FL4pdzJl2sIX
https://dl.doubtnut.com/l/_6Vq5BwwP5JP4
https://dl.doubtnut.com/l/_qIAqtgxJX3Bn
https://dl.doubtnut.com/l/_lwCGyNK2mS33

18. What are planktons?

° Watch Video Solution

19. What is common to earthworm, mushroom, soil

mites and dung beetlein an ecosystem.

o Watch Video Solution

Ncert Exemplar Problems C Short Answer Type Questions

1. Orgnisms at a higher trophic level have less energy

available. Comment.


https://dl.doubtnut.com/l/_1gEhy7qxj7pb
https://dl.doubtnut.com/l/_5SHRnzCak7Rd
https://dl.doubtnut.com/l/_B0PT8uqDWNik

° Watch Video Solution

2. The number of trophic levels in an ecosystem are

limited. Comment.

° Watch Video Solution

3.1s an aquarium a complete ecosystem?

° Watch Video Solution

4. What could be the reason for the faster rate of

decomposition in the tropics?


https://dl.doubtnut.com/l/_B0PT8uqDWNik
https://dl.doubtnut.com/l/_dylBIgPwHFYa
https://dl.doubtnut.com/l/_TokiNXwAJLlX
https://dl.doubtnut.com/l/_pU8xDq12H2XE

° Watch Video Solution

5. Human activities interfere with carbon cycle. List any

two such activities.

° Watch Video Solution

6. Flow of energy through various trophic levels in an

ecosystem is unidirectional and non-cyclic. Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_pU8xDq12H2XE
https://dl.doubtnut.com/l/_wWesfH4kHFmw
https://dl.doubtnut.com/l/_GU0qTNZH13XA

7. Apart from plants and animals, microbes form a
permanent biotic component in an ecosystem. While
plants have been referred to as autotrophs and
animals as heterotrophs. What are microbes referred
to as? How do the microbes fulfill their energy

requirements?

° Watch Video Solution

8. Poaching of tiger is a burning issue in today’s world.
What implication would this activity have on the
functioning of the ecosystem of which the tigers are

an integral part?

S ]


https://dl.doubtnut.com/l/_SlXWCs4X9Vwy
https://dl.doubtnut.com/l/_fwJS4uHqi689

l @ \Watch Video Solution J

9.In relation to energy transfer in ecosystem, explain
the statement ”10kg of deei’s meat is equivalent to 1 kg

of lion’s flesh".

o Watch Video Solution

10. Primary productivity caries from ecosystem to

ecosystem. Explain ?

O Watch Video Solution



https://dl.doubtnut.com/l/_fwJS4uHqi689
https://dl.doubtnut.com/l/_27MZtCpwnnXa
https://dl.doubtnut.com/l/_rXaH8Jp7dBQn

11. Sometimes due to biotic/abiotic factor the climax
remain in a particular seral stage (pre climax) without
reaching climax. Do you agree with this statement. If

yes give a suitable example.

° Watch Video Solution

12. What is an incomplete ecosystem? Explain with the

help of suitable example.

° Watch Video Solution



https://dl.doubtnut.com/l/_6IH82Iefp7be
https://dl.doubtnut.com/l/_csiqbJkAcrYj

13. What are the shortcomings of ecological pyramids

in the study of ecosystem?

° Watch Video Solution

14. How do you distinguish between humification and

mineralisation?

° Watch Video Solution

15. Fill in the trophic levels (1,2,3 and 4) in th eboxes

provided in the figure.


https://dl.doubtnut.com/l/_TxCt4ddRaizL
https://dl.doubtnut.com/l/_Cey6S6UeEAtd
https://dl.doubtnut.com/l/_lrEZ7XgfiRlx
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° Watch Video Solution

16. The rate of decomposition of detritus is affected by
the abiotic factors like availability of oxygen, pH of the

soil substratum, temperature ect. Discuss.

° Watch Video Solution

Ncert Exemplar Problems D Long Answer Type Questions


https://dl.doubtnut.com/l/_lrEZ7XgfiRlx
https://dl.doubtnut.com/l/_GtDcBu3nwXWj

1. A farmer harvests his crop and expresses his harvest
in three different ways.

(a) I have harvested 10 quintals of wheat.

(b) I have harvested 10 quintals of wheat today in one
acre of land.

(c) I have harvested 10 quintals of wheat in one acre of
land, 6 months after sowing.

Do the above statements mean one and the same
thing. If your answer is ‘yes', give reasons. And if your

answer is no’ explain the meaning of each expression.

o Watch Video Solution



https://dl.doubtnut.com/l/_vpf5JvkSPJsL

2. Justify the following statement in terms of
ecosystem dynamics. "Nature tends to increase the
gross primary productivity, while man tends

to increase the net primary productivity".

° Watch Video Solution

3. Which of the following ecosystems will be more
productive in terms at: primary productivity? Justify
your answer. A young forest, a natural Old forest, a

shallow polluted lake, alpine meadow.

o Watch Video Solution



https://dl.doubtnut.com/l/_zKtAKtudsckP
https://dl.doubtnut.com/l/_aLcFSopeDp8w
https://dl.doubtnut.com/l/_s8seXowPul0G

4. What are the three types of ecological pyramids.
What information is conveyed by each pyramid with
regard to structure, function and energy in the

ecosystem.

° Watch Video Solution

5. Write a short note on pyramid of numbers and

pyramid of biomass.

° Watch Video Solution



https://dl.doubtnut.com/l/_s8seXowPul0G
https://dl.doubtnut.com/l/_S1akiydMsb0V

6. "The energy flow in the ecosystem follows the

second law of thermodynamics.” Explain.

° Watch Video Solution

7. What will happen to an ecosystem if
(a) All producers are removed
(b) All organisms of herbivore level are eliminated and

(c) All top carnivore population is removed

° Watch Video Solution



https://dl.doubtnut.com/l/_PW9nsCQWtUf6
https://dl.doubtnut.com/l/_59baIUsCS9dI

8. Give two examples of artificial or man made
ecosystems. List the salient features by which they

differ from natural ecosystems.

° Watch Video Solution

9. The biodiversity increases when one moves from the
pioneer to the climax stage. What could be the

explanation?

° Watch Video Solution



https://dl.doubtnut.com/l/_YX7mMHWhuUp2
https://dl.doubtnut.com/l/_PCEhogCa3Omq

10. What is a biogeochemical cycle. What is the role of
the reservoir in a biogeochemical cycle? Give an
example of a sedimentary cycle with reservoir located

in earth's crust.

° Watch Video Solution

1. What will be the P/R ratio of a climax community
and a pioneer community? What explanation could
you offer for the changes seen in P/R ratio of a pioneer

community and the climax community?

o Watch Video Solution



https://dl.doubtnut.com/l/_eRXSnKnqHGJE
https://dl.doubtnut.com/l/_pYMk2VeUwyTY

Higher Order Thinking Skills Brain Twisting Very Short

Answer Questions

1. What is emmigration?

o Watch Video Solution

2. What is ecosystem?

° Watch Video Solution

3. Define stratification.

° Watch Video Solution



https://dl.doubtnut.com/l/_e8KpEffYpoQ1
https://dl.doubtnut.com/l/_7PP2UcavYsgD
https://dl.doubtnut.com/l/_xrq5wG07qMEn

4. What are seral communities ?

° Watch Video Solution

5. What are xerophytes?

o Watch Video Solution

6. What are hydrophytes?

o Watch Video Solution

7.What is immigration?


https://dl.doubtnut.com/l/_doDsYsDXUCem
https://dl.doubtnut.com/l/_er73Yp9skkJO
https://dl.doubtnut.com/l/_DVBp8T1dMSnI
https://dl.doubtnut.com/l/_s4cb7zVtrKmC

o Watch Video Solution

8. Define natality rate

o Watch Video Solution

9. What is natality?

° Watch Video Solution

10. Define Ecotone.

o Watch Video Solution



https://dl.doubtnut.com/l/_s4cb7zVtrKmC
https://dl.doubtnut.com/l/_4uZrYTwQrDr3
https://dl.doubtnut.com/l/_ACW2RV3hJYMn
https://dl.doubtnut.com/l/_fY6wQkrurdrQ

Higher Order Thinking Skills Brain Twisting Short Answer

Questions

1. Why are bacteria called decomposers ?

o Watch Video Solution

2. Define grazing food chain

° Watch Video Solution

3. Define ecological pyramids

° Watch Video Solution



https://dl.doubtnut.com/l/_Hw3H0Z0exDnc
https://dl.doubtnut.com/l/_DrBcjPrF72Ad
https://dl.doubtnut.com/l/_iqjMOVnYD3e9

4. Enlist the main characteristics of desert biome.

o Watch Video Solution

5.What is leghaemoglobin ? Give its role in N, fixation.

o Watch Video Solution

6. Write a difference between net primary productivity

and gross primary productivity.

o Watch Video Solution



https://dl.doubtnut.com/l/_4PYDxZg4h2WT
https://dl.doubtnut.com/l/_AoRwZ0zFHNH9
https://dl.doubtnut.com/l/_TwBbqP0DAwJW

7. Starting from a bare a bare rock or site or site of a
volcanic eruption , trace the organisms that

participate in the process of succession.

° Watch Video Solution

8. What is stratification?

° Watch Video Solution

9. How does a foodweb increase the stability of an

ecosystem ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Ai9pQWR412BQ
https://dl.doubtnut.com/l/_FZk5ULo4zFAY
https://dl.doubtnut.com/l/_61OqsJFfbbit

10. What is Catabolism?

° Watch Video Solution

11. Discuss the energy flow in a food chain formed of

three trophic levels.

° Watch Video Solution

12. Define succession. Describe succession in a pond.

o Watch Video Solution



https://dl.doubtnut.com/l/_61OqsJFfbbit
https://dl.doubtnut.com/l/_qSOVreSqLnRV
https://dl.doubtnut.com/l/_QJpiBP1YviMK
https://dl.doubtnut.com/l/_KOuTfLFNbgfP

13. What is Mineralisation?

° Watch Video Solution

14. What is Pioneer community?

o Watch Video Solution

15. Define Seral community

° Watch Video Solution



https://dl.doubtnut.com/l/_cIIa2pBPzmXm
https://dl.doubtnut.com/l/_AL5IMcp7HAZH
https://dl.doubtnut.com/l/_2yCO3hBYhFUo

Higher Order Thinking Skills Brain Twisting Long Answer

Questions

1. What is climax community?

o Watch Video Solution

2. What is meant by a sedimentary cycle ? Depict

diagrammatically the phosphorus or sulphur cycle.

o Watch Video Solution

3. What are primary producers?

l o Watch Video Solution


https://dl.doubtnut.com/l/_wiEUcRQAnLPs
https://dl.doubtnut.com/l/_NMIm85VAzhTf
https://dl.doubtnut.com/l/_0xlPAKXjbvqV

4. What are primary producer?

° Watch Video Solution

5. Define stratification

° Watch Video Solution

Quick Memory Test A Say True Or False

1. Lakes rich in organic compounds are Oligotrophic

lakes.


https://dl.doubtnut.com/l/_0xlPAKXjbvqV
https://dl.doubtnut.com/l/_utU6jucG0H6a
https://dl.doubtnut.com/l/_423sqB5oZlCs
https://dl.doubtnut.com/l/_q6MSIU3Jhccg

° Watch Video Solution

2. Transitional zone between the adjacent biomes is

ecotype.

o Watch Video Solution

3. Taiga is the northern coniferous forest.

° Watch Video Solution

4. Grassland with scattered trees is called chhaparal.

° Watch Video Solution



https://dl.doubtnut.com/l/_q6MSIU3Jhccg
https://dl.doubtnut.com/l/_ANxPUy7qqWPW
https://dl.doubtnut.com/l/_AoOlgFNuvGAm
https://dl.doubtnut.com/l/_Dh62UonHrnfQ

5. Alpine forests of Himalayas have dwarf shrubby

plants.

° Watch Video Solution

6. Driving force in an ecosystem is formed of

producers.

° Watch Video Solution

7. Submerged hydrophytes have stomata on upper

surface.


https://dl.doubtnut.com/l/_Dh62UonHrnfQ
https://dl.doubtnut.com/l/_jXnbXRwyLroV
https://dl.doubtnut.com/l/_vmYiL24wqWRW
https://dl.doubtnut.com/l/_qNPEmZIYlS3t

° Watch Video Solution

8. Energy and materials follow unidirectional flow.

o Watch Video Solution

9. Earth is a closed system as far as materials are

concerned.

° Watch Video Solution

10. Water and Phosphorus cycles are gaseous cycles.

° Watch Video Solution



https://dl.doubtnut.com/l/_qNPEmZIYlS3t
https://dl.doubtnut.com/l/_CNDt7nEN2G6S
https://dl.doubtnut.com/l/_qPJS0de9SegN
https://dl.doubtnut.com/l/_Hq3KBfAMXwaW

11. Biosphere is also called Ecosphere.

o Watch Video Solution

12. The ecological succession taking place in dry area is

xerarch.

o Watch Video Solution

13. The effect of individuals of different species on each

other is called co - action.

° Watch Video Solution



https://dl.doubtnut.com/l/_Hq3KBfAMXwaW
https://dl.doubtnut.com/l/_q59xuNUPIqQO
https://dl.doubtnut.com/l/_GfQTSkY95zr4
https://dl.doubtnut.com/l/_IusIzpjUzIox

14. The competition of individuals may be for food ,

space, light and other physical factors .

° Watch Video Solution

15. Heterotrophic succession takes place on

substratum having plenty of minerals in soils.

° Watch Video Solution

16. The introduction of new life forms in bare areas is

initiated by act of migration.


https://dl.doubtnut.com/l/_IusIzpjUzIox
https://dl.doubtnut.com/l/_1lhASuSFodA3
https://dl.doubtnut.com/l/_IoP3duTd12Gv
https://dl.doubtnut.com/l/_XVcg5gQ8VhHz

° Watch Video Solution

17. Migration, ecesis and aggregation are collectively

called as invasion.

o Watch Video Solution

18. Plant communities are always stable.

° Watch Video Solution

19. 1t is possible to predict the direction of succession.

o Watch Video Solution



https://dl.doubtnut.com/l/_XVcg5gQ8VhHz
https://dl.doubtnut.com/l/_5nDymQaGu0qy
https://dl.doubtnut.com/l/_X5u8ieDvhKsx
https://dl.doubtnut.com/l/_S0HSfjgb4alP

20. Plant ecosystem is an orderly process of ecosystem

development.

° Watch Video Solution

21. Phosphorus cycle is an example of sedimentary

cycle.

° Watch Video Solution

22. Nitrogen cycle is an example of sedimentary cycle.

° Watch Video Solution



https://dl.doubtnut.com/l/_S0HSfjgb4alP
https://dl.doubtnut.com/l/_p73UnFZGXuTj
https://dl.doubtnut.com/l/_yirgzlaeN3zl
https://dl.doubtnut.com/l/_YOlZzwZ06Sn0

23.The pyramid of energy is always upright.

o Watch Video Solution

24.The energy flow in an ecosystem is unidirectional.

o Watch Video Solution

25. Breakdown of organic molecules into inorganic

molecules is carried out by producers.

° Watch Video Solution



https://dl.doubtnut.com/l/_YOlZzwZ06Sn0
https://dl.doubtnut.com/l/_2Dl19FWYNytF
https://dl.doubtnut.com/l/_G2Ma1A0uGFjT
https://dl.doubtnut.com/l/_K8xqRWWPCvOf

Quick Memory Test B Complete The Missing Links

1. The biotic community together with the physical

environment forms an interacting system called ...

° Watch Video Solution

2. Each step in a food chain represents in a ...

o Watch Video Solution

3. Interlocking network of food chains is called as ...........

o Watch Video Solution



https://dl.doubtnut.com/l/_fSD7rPACJqGF
https://dl.doubtnut.com/l/_gpaa56LHUkYC
https://dl.doubtnut.com/l/_wuZjTk3TDO6W

4.The principal grassland of South America is .............

o Watch Video Solution

5. Organisms which can tolerate wide temperature

variations are called.................

o Watch Video Solution

6. . are unstable due to absence of diversity and

self - regulating mechanisms.

o Watch Video Solution



https://dl.doubtnut.com/l/_wuZjTk3TDO6W
https://dl.doubtnut.com/l/_7YutneHW1s7u
https://dl.doubtnut.com/l/_iPFKXzdBBNxY
https://dl.doubtnut.com/l/_r1awnBxajK0Q

oooooooooo

° Watch Video Solution

8. e forests are found in Himalayas.

o Watch Video Solution

9. When the primary productivity is calculated in terms
of total plant community of an ecosystem , it is

called......... Productivity.

| e |


https://dl.doubtnut.com/l/_r1awnBxajK0Q
https://dl.doubtnut.com/l/_ly6Arc2gKGix
https://dl.doubtnut.com/l/_BPgpl6ngu43F
https://dl.doubtnut.com/l/_tHnZr9VnzOEJ

l & Watch Video Solution ]

10. Phosphorus cycle is ........... type of cycle.

o Watch Video Solution

11. Each higher trophic level in a food chain can utilize

only ... of energy.

o Watch Video Solution

120 s is a denitrifying bacterium.

o Watch Video Solution



https://dl.doubtnut.com/l/_tHnZr9VnzOEJ
https://dl.doubtnut.com/l/_HOplu8kXxCcL
https://dl.doubtnut.com/l/_UcL7sJteYZPK
https://dl.doubtnut.com/l/_7wmCxh4Puwhz

13. The pyramid of .............. is always upright.

° Watch Video Solution

14. Inverted pyramid is generally found in ...........

° Watch Video Solution

15. Dead plant and animal remains are called .............

o Watch Video Solution



https://dl.doubtnut.com/l/_7wmCxh4Puwhz
https://dl.doubtnut.com/l/_6yWIOut1CNib
https://dl.doubtnut.com/l/_AFb8kfjjDZWz
https://dl.doubtnut.com/l/_ETHbWabXs501

16. Ecological succession on the sand dune is

called...............

° Watch Video Solution

17. Pioneer community in the lithosere is ............

o Watch Video Solution

18. The serial changes in previously sterile or totally

barren area is called...............

o Watch Video Solution



https://dl.doubtnut.com/l/_2eZitXlbnZTO
https://dl.doubtnut.com/l/_jflBuEt6GGQ7
https://dl.doubtnut.com/l/_yRRQE6KaTPU1

19. Intermediate community between pioneer and

climax community is called...........

° Watch Video Solution

20.The final and stable community of the succession is

the ... community .

° Watch Video Solution

2N s is the term used for succession taking place

on sand dunes.

° Watch Video Solution



https://dl.doubtnut.com/l/_uWLscrmMfN5c
https://dl.doubtnut.com/l/_j7OnYDXRnSjx
https://dl.doubtnut.com/l/_6mPg0f66HoFq

22. The climax community which is under the control of

the climate of the area, is known as ............

° Watch Video Solution

23. When the succession is arrested and help
indefinitely at the stage preceding the climax, it is

termed as .............

o Watch Video Solution



https://dl.doubtnut.com/l/_6mPg0f66HoFq
https://dl.doubtnut.com/l/_gbYLiXdbpB2j
https://dl.doubtnut.com/l/_ov2eoHRm6uwr

24. The succession in reverse direction due to adverse

conditions is termed as ...........

° Watch Video Solution

25. Ecological succession is also known as ..........

o Watch Video Solution

26. Plants are called ... because they fix carbon

dioxide.

o Watch Video Solution



https://dl.doubtnut.com/l/_njPBbqjBRWPc
https://dl.doubtnut.com/l/_zwAh3kpiUwFG
https://dl.doubtnut.com/l/_5GU7zrCi9mkj

27. Natural reservoir of phosphorus is in ...

° Watch Video Solution

28. Rate of biomass production is called............

o Watch Video Solution

29. Phosphorus shows ............ type of nutrient cycle.

o Watch Video Solution



https://dl.doubtnut.com/l/_kqJAZ5ja3MF8
https://dl.doubtnut.com/l/_9etRto3o5GiC
https://dl.doubtnut.com/l/_IauYteJq9cHB

30. Ao is a series of trophic levels in which there is
repeated eating and being eaten by to transfer the

food energy .

° Watch Video Solution

31 Ao is a network formed by interconnection of
many food chains to provide alternative pathways of

food availability .

° Watch Video Solution



https://dl.doubtnut.com/l/_eH5oy2rRYLNZ
https://dl.doubtnut.com/l/_CLcQz0AkqmEl

32. The amount of food energy produced or obtained
or stored by a particular trophic level per unit area in a

unit time is eeeeene.

° Watch Video Solution

33. The major reservoir of carbon on earth on earth is

ooooooooooooooo

° Watch Video Solution

34.Succession on an pre - vegetated area destroyed by

a fire represents .............. .



https://dl.doubtnut.com/l/_qhGDdxcq031J
https://dl.doubtnut.com/l/_zCDVSktOfTlZ
https://dl.doubtnut.com/l/_eHkR73IHACax

o Watch Video Solution J

35. Synthesis of organic molecules from inorganic
molecules in the presence of sunlight is carried out by

the organism called............ .

o Watch Video Solution

36. Succession on a bare rock represents .......cuu.....

° Watch Video Solution



https://dl.doubtnut.com/l/_eHkR73IHACax
https://dl.doubtnut.com/l/_D4Nqas8wsdeR
https://dl.doubtnut.com/l/_RHjqzdrbAPjN

37. Final and more or less stable community in a biotic

succession is called ..................

° Watch Video Solution

Quick Memory Test C Choose The Correct Alternative

1. Reducers of ecosystem are bacteria and

fungi/macroconsumers.

o Watch Video Solution



https://dl.doubtnut.com/l/_wSTrWuOLO0Pa
https://dl.doubtnut.com/l/_4q50CdkEaM6N

2. Physiognomy refers to physical appearance /

functional status of an ecosystem.

° Watch Video Solution

3. Lowest productivity on lithosphere is of desert

/estuarine biome.

° Watch Video Solution

4. Fairly decomposed organic matter is called litter

/detritus /duff.

° Watch Video Solution



https://dl.doubtnut.com/l/_OuB1pNLGQ5Dl
https://dl.doubtnut.com/l/_raOn4KczI6WL
https://dl.doubtnut.com/l/_jo9UwytEijyT

5. Primary consumers always belong to first/second

trophic level.

° Watch Video Solution

6. Shorter/longer food chains provide more energy.

° Watch Video Solution

7. In aquatic ecosystems, GFC/DFC are more important

for energy flow.

o Watch Video Solution



https://dl.doubtnut.com/l/_jo9UwytEijyT
https://dl.doubtnut.com/l/_TfaifjKuIBI0
https://dl.doubtnut.com/l/_OE2K6ftoWntw
https://dl.doubtnut.com/l/_nxOj03buI7Pv

8.0n average , the energy tropped by the producers is
1 -5 per cent / 2 - 10 per cent of incident light

radiations.

° Watch Video Solution

9. Pyramid of biomass in a marine ecosystem is

straight/inverted.

° Watch Video Solution



https://dl.doubtnut.com/l/_nxOj03buI7Pv
https://dl.doubtnut.com/l/_7Eyg1RzDmWsD
https://dl.doubtnut.com/l/_JSpz7HM2fQ4j

10. Climax community is reached earlier in

perisere/subsere.

° Watch Video Solution

1. With reference to minerals, the earth is a/an

closed/open system.

° Watch Video Solution

12. Phosphorus cycle is a sedimentary/gaseous cycle.

o Watch Video Solution



https://dl.doubtnut.com/l/_b53jAKHrnpmb
https://dl.doubtnut.com/l/_JHtexiRtPR9c
https://dl.doubtnut.com/l/_3J4xH9W1iNpz

13. Ocean/Atmosphere acts as global sink for carbon

dioxide.

° Watch Video Solution

14. Azotobacter bacterium is anaerobic/aerobic free

living N -fixer.

° Watch Video Solution

15. Savannah is a tropical grassland/temperate

grassland.

° Watch Video Solution



https://dl.doubtnut.com/l/_4YEOMDUhQNaT
https://dl.doubtnut.com/l/_wSZmzfKqzjgC
https://dl.doubtnut.com/l/_GXcAmAarx0Jw

Revision Exercises | Multiple Choice Questions Mcqs

1. Choose the correct answer :

The term ecosystem was coined by :

A. Odum

B. Ernst Haeckel

C. Tansley

D. Reiter

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GXcAmAarx0Jw
https://dl.doubtnut.com/l/_AeikgEy2vVf3

2. Choose the correct answer :

Maximum water holding capacity is possessed by

which kind of soil ?

A. Silt

B. Sand

C. Clay

D. Gravel

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_AeikgEy2vVf3
https://dl.doubtnut.com/l/_aY8USnNE5t0w

3. Choose the correct answer :

The possible beneficial effect of grazing animals is the :

A. Eradication of weeds

B. Removal of wild plants

C. Removal of wild animals

D. Addition of their excreta in the soil

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1qkvVzCzacsp

4. Choose the correct answer :

The rate of conversion of light energy into chemical

energy or organic molecules in an ecosystem is :

A. Net primary productivity

B. Gross primary productivity

C. Net secondary productivity

D. Gross secondary productivity

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lfuSu3HlJj1W

5. Choose the correct answer :

These belong to the category of primary consumers :

A. Eagle and snake

B. Insects and cattle

C. Snake and Frog

D. Water insects

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_J70xZTHK6qEj

6. Choose the correct answer :

If the high altitude birds become rare or extinct , the

plants which may disappear long with them are :

A. Pine

B. Oak

C. Orchids

D. Rhododendrons

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_G8V5F6hhQ4tD

7.Choose the correct answer :

An ecosystem which can be easily damaged but can

recover after some time if damaging effect stops will

be having :

A. Low stability and low resilience

B. High stability and high resilience

C. Low stability and high resilience

D. High stability and low resilience

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_t88MnXa5NhCi
https://dl.doubtnut.com/l/_35K4aOn9ct0I

8. Which of the following is expected to have the
highest value (gm/m?/yr) in a grassland
ecosystem?

A. Gross production (GP)

B. Net production (NP)

C. Secondary production

D. Tertiary production

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_35K4aOn9ct0I

9. If by radiation all nitrogenase enzymes are

inactivated, then there will be no

A. Conversion from nitrate to nitrite in the legumes

B. Conversion from ammonium to nitrate in soil

C. Fixation of nitrogen in the legumes

D. Fixation of atomospheric nitrogen

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zhEQqegpsCrd

10. Choose the correct answer :

In which one of the following habitats , does the

decimal temperature of soil surface vary most ?

A. Desert

B. Grassland

C. Shrub land

D. Forest

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WqzFgSXqOykY

11. Choose the correct answer :

The Great Barrier Reef along the east coast of Australia

can be categorized as :

A. population

B. Community

C. Ecosystem

D. Biome

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7RupdPIRlNkG

12. Choose the correct answer :

Biological equilibrium is an equilibrium among the:

A. Producers

B. Producers and consumers

C. Producers and decomposers

D. Producers , consumers and decomposers

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UcNvxntXDS7o

13. Choose the correct answer :

Pyramid of biomass in a pond ecosystem is :

A. Inverted

B. Always upright

C. Sometimes upright

D. Upright and sometimes inverted

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3wmbXuY8xJjZ

14. Choose the correct answer :

In a pond ecosystem , benthos means :

A. Virus

B. Bacteria

C. Zooplanktons in water surface

D. Primary consumers in the depth of a pond

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DfPYC2V9sF5d

15. Choose the correct answer :

Pond is an example of :

A. Natural ecosystem

B. Artificial ecosystem

C. Grassland ecosystem

D. Forest ecosystem

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PoFyno7IVDoZ

16. Choose the correct answer :

When the number of organisms at successive levels

are plotted they assume the shape of a pyramid This is

called pyramid of :

A. Biomass

B. Number

C. Energy

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yEetCmLIQhQX
https://dl.doubtnut.com/l/_A9Z6J7RqX34e

17. Choose the correct answer :

Acclimatization is :

A. Introduction

B. Pure - line breeding

C. Pure -line selection

D. Adaptation to new environment

Answer: D

° Watch Video Solution

18. Choose the correct answer :

The average efficiency of energy transfer from


https://dl.doubtnut.com/l/_A9Z6J7RqX34e
https://dl.doubtnut.com/l/_WlHhk0PtUTlK

herbivore to carnivore level is :

A.5%

B.10 %

C.20 %

D. 30 %

Answer: B

° Watch Video Solution

19. Choose the correct answer :

In an ecosystem :

A. Movement of energy is unidirectional


https://dl.doubtnut.com/l/_WlHhk0PtUTlK
https://dl.doubtnut.com/l/_hOuc4EmuLAi8

B. Energy cycling is an independent process

C.Energy cycling and nutrient cycling a coupled

process

D. Micro and macronutrients cycle at same pace

Answer: A

° Watch Video Solution

20. Choose the correct answer :

During food chain the maximum energy is stored in :

A. Producers

B. Decomposers


https://dl.doubtnut.com/l/_hOuc4EmuLAi8
https://dl.doubtnut.com/l/_PlTbFn5X01F3

C. Herbivores

D. Carnivores

Answer: A

° Watch Video Solution

21. Choose the correct answer :

In a food chain, the total amount of living material is

depicted by :

A. Pyramid of biomass

B. Trophic levels

C. Pyramid of number


https://dl.doubtnut.com/l/_PlTbFn5X01F3
https://dl.doubtnut.com/l/_cOvIMGCkRtu2

D. Pyramid of energy

Answer: A

° Watch Video Solution

22. Choose the correct answer :

Which of the following is most stable ecosystem ?

A. Mountain

B. Desert

C. Forest

D. Ocean


https://dl.doubtnut.com/l/_cOvIMGCkRtu2
https://dl.doubtnut.com/l/_Xj575kXACtbG

Answer: D

° Watch Video Solution

23. Choose the correct answer :

In a food web , hyaenas and vultures are :

A. Predators

B. Scavengers

C. Decomposers

D. Primary consumers

Answer: B

I O Watch Video Solution


https://dl.doubtnut.com/l/_Xj575kXACtbG
https://dl.doubtnut.com/l/_7u2nKw7odezZ

24. Choose the correct answer :

Ecological pyramids were first devised by :

A. Charles Elton

B. R. Hesse

C.R.A. Lindemann

D. Justus von Liebig

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7u2nKw7odezZ
https://dl.doubtnut.com/l/_yghKoRLD9E2z

25. Choose the correct answer :

Maximum net productivity in terrestrial ecosystems is

found in :

A. Rain forests

B. Deciduous forests

C. Mangrove plantation

D. Both (a) & (b)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KLryTo3SMg2f

26. Choose the correct answer :

The minimum number of components required for an

ecosystem to survive are :

A. Producers & decomposers

B. Producers & primary consumers

C. Producers & secondary consumers

D. Primary consumers & decomposers

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SakpTsy5quhA

27. Choose the correct answer :

Bacteria and fungi in a forest ecosystem are generally :

A. Producers

B. Decomposers

C. Primary consumers

D. Secondary consumers

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6eWRirLj3oqA

28. Choose the correct answer :

Ecosystem creates :

A. Food chains

B. Food web

C. Both of these

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kcqR9SuVAVXS

29. Choose the correct answer :

A sedimentary type of biogeochemical cycle is :

A. Carbon

B. Hydrologic

C. Nitrogen

D. Sulphur

Answer: D

o Watch Video Solution

30. What is Humus?

| o=


https://dl.doubtnut.com/l/_iFx8INi4MfpM
https://dl.doubtnut.com/l/_aZgGbopfkIBB

[ & Watch Video Solution ]

Revision Exercises li Very Short Answer Questions A

Questions From State Board Examinations

1. Which ecological pyramid is always straight ?

° Watch Video Solution

2. Who are the primary consumers in the food chain ?

° Watch Video Solution



https://dl.doubtnut.com/l/_aZgGbopfkIBB
https://dl.doubtnut.com/l/_rEiSkUpIa1nb
https://dl.doubtnut.com/l/_k7iHzuqz1uoG

3. What is primary source of energy in detritus food

chain ?

° Watch Video Solution

4. Draw a pyramid of biomass in a terrestrial

ecosystem .

° Watch Video Solution

5. The species that invade a nude area called
.............. species . In a primary succession on rocks , the

group that invade first are .........



https://dl.doubtnut.com/l/_NFq0YYlqypkM
https://dl.doubtnut.com/l/_WBzBAjOEjrlB
https://dl.doubtnut.com/l/_w8ZS5PQ4XeOy

o Watch Video Solution J

6. The rate of biomass production is called productivity
. They are of two types : Gross primary productivity and
Net primary productivity . How these two

productivities are related ?

o Watch Video Solution

7. Write names of two atmospheric nitrogen - fixing

bacteria.

o Watch Video Solution



https://dl.doubtnut.com/l/_w8ZS5PQ4XeOy
https://dl.doubtnut.com/l/_4jxLiyl6ZisY
https://dl.doubtnut.com/l/_omUWagJrHyxT
https://dl.doubtnut.com/l/_sMOWaCuMlDgS

8. Define biome.

° Watch Video Solution

9. On the basis of number , draw a pyramid of tree

ecosystem .

° Watch Video Solution

10. What is biosphere ?

° Watch Video Solution



https://dl.doubtnut.com/l/_sMOWaCuMlDgS
https://dl.doubtnut.com/l/_5sR2Gu7GnMjk
https://dl.doubtnut.com/l/_ZMAahsWgshSX

11. When the ecological pyramid of number is inverted

?

° Watch Video Solution

12. Write an example of a detritus food chain.

o Watch Video Solution

13. On earth, life exists even in extrene and harsh

conditions. Mention any two major biomes in India.

o Watch Video Solution



https://dl.doubtnut.com/l/_T5rwY2Xxugxj
https://dl.doubtnut.com/l/_lXFJKulAkfqI
https://dl.doubtnut.com/l/_eTC6YVvSCs17

14. What is primary production ?

° Watch Video Solution

15. What is pioneer community ?

o Watch Video Solution

16. Give an example of gaseous cycle.

o Watch Video Solution

17. What is standing crop in an ecosystem ?


https://dl.doubtnut.com/l/_niZDGrIPCfaj
https://dl.doubtnut.com/l/_VBEUthdK5QWM
https://dl.doubtnut.com/l/_A5MXJd85ZNA5
https://dl.doubtnut.com/l/_lPqyymqC5Sa1

o Watch Video Solution

18. What is standing state in an ecosystem ?

o Watch Video Solution

19. What is stratification in an ecosystem ?

° Watch Video Solution

20. What is primary source of energy in a detritus food

chain ?

° Watch Video Solution



https://dl.doubtnut.com/l/_lPqyymqC5Sa1
https://dl.doubtnut.com/l/_Ro9PMmWs9tio
https://dl.doubtnut.com/l/_AbWuzrAVjUQI
https://dl.doubtnut.com/l/_YrqBbMsPNcde

21. Name pioneer community in lithosere .

o Watch Video Solution

22, State the definition of gross primary productivity.

o Watch Video Solution

23. Name the type of food chain that is the major

conduit for energy flow in an aquatic ecosystem.

° Watch Video Solution



https://dl.doubtnut.com/l/_YrqBbMsPNcde
https://dl.doubtnut.com/l/_RwdzposjysWP
https://dl.doubtnut.com/l/_jiR0OV57vpMU
https://dl.doubtnut.com/l/_WNQWB6SRr54W

Revision Exercises li Very Short Answer Questions B

Questions From Cbse Examinations

1. Why is Eichhornia crassipes nicknamed as "Terror of

Bengal " ?

o Watch Video Solution

2. Standing crop and biomass are related to each

other, how?

o Watch Video Solution



https://dl.doubtnut.com/l/_hG3LVpEH5Q8D
https://dl.doubtnut.com/l/_utnrytcUqOVa

3. Write the equation that helps in deriving the net

primary productivity of an ecosystem.

° Watch Video Solution

4. State what does 'standing crop' of a trophic level

represent.

° Watch Video Solution

5. What is a detritus food chain made up of ? How do

they meet their energy and nutritional requirements?

° Watch Video Solution



https://dl.doubtnut.com/l/_UUv7S45yg14t
https://dl.doubtnut.com/l/_KFvx5cijmNgg
https://dl.doubtnut.com/l/_8P3Tu5p83CCC

6. How is 'stratification' represented in a forest

ecosystem?

o Watch Video Solution

7. Name the type of association that genus Glomus

exhibits with higher plants.

o Watch Video Solution

8. What are decomposers?

° Watch Video Solution



https://dl.doubtnut.com/l/_8P3Tu5p83CCC
https://dl.doubtnut.com/l/_90dASOZ12DLz
https://dl.doubtnut.com/l/_FxRjrbXWXquo
https://dl.doubtnut.com/l/_AkLh9uBbsqJi

9. Name the pioneer species that invade in primary

succession on bare rock and in water.

o Watch Video Solution

10. The rate of secondary succession is faster than

primary succession because.

o Watch Video Solution

Revision Exercises lii Short Answer Type | Questions A

Questions From State Board Examinations



https://dl.doubtnut.com/l/_AkLh9uBbsqJi
https://dl.doubtnut.com/l/_5HXdiiley97w
https://dl.doubtnut.com/l/_ivNOQ8ym300A
https://dl.doubtnut.com/l/_PXMCj6F9kqDm

1. Why pyramid of numbers in a grassland ecosystem is

upright ?

° Watch Video Solution

2. Pyramid of energy in an ecosystem can never be

inverted . Why ?

° Watch Video Solution

3. In food chain , the herbivores are called connecting

link between producers and carnivores . Why

° Watch Video Solution



https://dl.doubtnut.com/l/_PXMCj6F9kqDm
https://dl.doubtnut.com/l/_jrVbi18jhCca
https://dl.doubtnut.com/l/_A7b383gk0ono

4. Given below are the components related to
simpliied model of mineral cycling in terrestrial
ecosystem . Construct a flow chart .

[Hint : weathering of rock ]

r#45t:urn.=.=1.:1:r'ul=.r_a,)” —

~
\ Emducers -

° Watch Video Solution

5. Primary succession on the rocks is called xerosere.

Answer the following .


https://dl.doubtnut.com/l/_xE83HD8dRlsX
https://dl.doubtnut.com/l/_1qtRXIV4UI03

(i) Name the pioneer community
(i) Organic acids have important role in this

succession Justify.

o Watch Video Solution

6. Draw a diagrammatic sketch of phosphorus cycle.

o Watch Video Solution

7.State two laws of thermodynamics to explain flow of

energy in an ecosystem.

o Watch Video Solution



https://dl.doubtnut.com/l/_1qtRXIV4UI03
https://dl.doubtnut.com/l/_75LI3z6kcLE0
https://dl.doubtnut.com/l/_pelnU90DxNsT

8. What is food chain ? Draw a food chain.

° Watch Video Solution

9. What is Ecological efficiency ? Explain its significance

?

o Watch Video Solution

10. Explain the characteristics of food web.

o Watch Video Solution



https://dl.doubtnut.com/l/_D611bwqPanOE
https://dl.doubtnut.com/l/_ckVdU8pWF2Q0
https://dl.doubtnut.com/l/_YN6WWqfoCxw7

11. Write notes on : (i) Food chain (ii) Trophic level.

o Watch Video Solution

12. State differences between grazing food chain and

detritus food chain.

o Watch Video Solution

13. Write four characteristics of food chain.

o Watch Video Solution



https://dl.doubtnut.com/l/_bdkeCcySiqWB
https://dl.doubtnut.com/l/_EH7lA8O8pJjg
https://dl.doubtnut.com/l/_8TWCnMtpuFr2

14. Nutrients are never lost from the ecosystems .

Write about (a) Gaseous cycle (b) Sedimentary cycle.

° Watch Video Solution

15. Ecological pyramids are usually upright. Meanwhile
some pyramid of biomass is inverted. Explain the

reason.

° Watch Video Solution

16. Name various biomes of India.

° View Text Solution



https://dl.doubtnut.com/l/_ZawoOxAFCgAx
https://dl.doubtnut.com/l/_O9vOP1iL0gNN
https://dl.doubtnut.com/l/_P5cXTwjBJ47z

17. Why earthworms are referred to as Farmer's friends

and what is the role of decomposers ?

° View Text Solution

18. What do you mean by gaseous and sedimentary

nutrient cycle ? Give an example of each .

° Watch Video Solution

19. Briefly explain 10% law of energy transfer in an

ecosystem.



https://dl.doubtnut.com/l/_P5cXTwjBJ47z
https://dl.doubtnut.com/l/_BzZr8RbFdAGw
https://dl.doubtnut.com/l/_wcNlAvArcQAX
https://dl.doubtnut.com/l/_mHPeJ9pgutAm

o Watch Video Solution J

20. Draw a pyramid of biomass in a terrestrial habitat.

° Watch Video Solution

21. What is meant by ecological pyramid ? Name the

different types of ecological pyramids.

° Watch Video Solution

22. Differentiate = between production  and

decomposition.



https://dl.doubtnut.com/l/_mHPeJ9pgutAm
https://dl.doubtnut.com/l/_ITOYz5WnWSDs
https://dl.doubtnut.com/l/_nCE4jvo6LoLU
https://dl.doubtnut.com/l/_LVXgTPQbYPYQ

I o Watch Video Solution

23. Define productivity . Mention the two types of

productivity.

o Watch Video Solution

24. What is ecological pyramid ? Draw the pyramid of

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_LVXgTPQbYPYQ
https://dl.doubtnut.com/l/_GPgWysGafUtD
https://dl.doubtnut.com/l/_mcp0vlafBMNZ

25. Write a short note on ecological succession on a

bare rock.

° Watch Video Solution

26. Differentiate between primary and secondary

succession. Provide one example of each.

° Watch Video Solution

27. Why is pyramid of biomass in sea generally inverted

? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_YPE1NtdCrAJD
https://dl.doubtnut.com/l/_P2unEP5W7UCS
https://dl.doubtnut.com/l/_zT4Rx8dM1Wcc

28. How do climatic factors affect process of

decomposition in ecosystem ? Explain.

° Watch Video Solution

29. Under what circumstances doe the secondary
succession begin ? Why does it proceed faster than

primary succession ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zT4Rx8dM1Wcc
https://dl.doubtnut.com/l/_zwWl0ROttZJH
https://dl.doubtnut.com/l/_ptNdJOubL2rG

30. The different stages of primary succession in water

are represented below . Fill the gaps :

(@) Phytoplankton (b) ... (c) Submerged free
floating plants (d) .cccoeeeeeeeee.
() J—— (f) Shrub stage (g) ..o

° View Text Solution

31. Briefly explain the ecological pyramid which is

always upright.

° Watch Video Solution



https://dl.doubtnut.com/l/_UOBGVuuvXCdz
https://dl.doubtnut.com/l/_SeVLMxXKgo6A

32. The products of ecosystem processeare named as

ecosystem services . List out four such services.

° Watch Video Solution

33. Pyramid of energy is never been inverted . Why ?

o Watch Video Solution

34.What is gross primary productivity ? In what unit is

it expressed ?

° Watch Video Solution



https://dl.doubtnut.com/l/_zRWDVJzbnVzZ
https://dl.doubtnut.com/l/_ygYpiKs6MsrM
https://dl.doubtnut.com/l/_I4j65mXViojR

35. Give a brief account of productivity .

o Watch Video Solution

36. Write a short note on energy flow.

o Watch Video Solution

37. Describe briefly detritus food chain

o View Text Solution

38. What is ecosystem ? Explain its two components .


https://dl.doubtnut.com/l/_AE8lNOhOktMG
https://dl.doubtnut.com/l/_jsvCjSTKaO5Y
https://dl.doubtnut.com/l/_M2906icvFEJH
https://dl.doubtnut.com/l/_XbNOQBtXzJRd

O Watch Video Solution

39. Starting from a bare rock or the site of volcanic
eruptions, trace the organisms, that participate in the

process of succession.

o Watch Video Solution

40. (a) Identify the type of ecological pyramid given

below .


https://dl.doubtnut.com/l/_XbNOQBtXzJRd
https://dl.doubtnut.com/l/_LXz2iK3TBQLM
https://dl.doubtnut.com/l/_ERiM52Mz9uAl

(b) Pyramid of energy is always upright . Why ?

Trophic Level Dry Weight (kg m™}
TC 15

S 11

PC 37

PP | | 809

° Watch Video Solution

41. Given below is a flow chart showing the
accumulation of DDT in different trophic levels.

(a) Name the phenomenon.


https://dl.doubtnut.com/l/_ERiM52Mz9uAl
https://dl.doubtnut.com/l/_eYlAwMDNO27Y

(b) How does it affect bird population?
Water lankton Small fish

Fmil:ﬁ:ng by Rl <:J
2 ppm)

(25 ppm)

o Watch Video Solution

Revision Exercises lii Short Answer Type | Questions B

Questions From Cbse Examinations

1. Differentiate between a detritivore and a

decomposer giving an example of each.

o Watch Video Solution



https://dl.doubtnut.com/l/_eYlAwMDNO27Y
https://dl.doubtnut.com/l/_U6fXmwTuNp4W
https://dl.doubtnut.com/l/_rAIpNyp3izUK

2. State the difference between the first trophic levels

of detritus food chain and grazing food chain.

° Watch Video Solution

3. (a) Name the pioneer species organisms on a bare
rock.
(b) How do pioneer species help in establishing the

next type of vegetation

° Watch Video Solution



https://dl.doubtnut.com/l/_rAIpNyp3izUK
https://dl.doubtnut.com/l/_uOLa4BOXmI0e

4.Name the pioneer and the climax species in a water
body. Mention the changes observed in the biomass
and the biodiversity of the successive seral

communities developing in the water body.

° Watch Video Solution

5. List the features that make a stable biological

community.

° Watch Video Solution



https://dl.doubtnut.com/l/_SjF4Rlm4yyiB
https://dl.doubtnut.com/l/_38uurBKMMre4

6. Identify the type of the given ecological pyramid and
give one example each of pyramid of number and

pyramid biomass in such case.

. o - 4
i » i - I'i - ]
% g T 'j‘ =N o
Pt AN e
-
" |
3

° View Text Solution

7. Differentiate between a detritivore and a

decomposer giving an example of each.

° Watch Video Solution



https://dl.doubtnut.com/l/_rtO1YgI96twB
https://dl.doubtnut.com/l/_MTyiNS2rGrpj

8. The gradual and predictable change in the species
composition of a given area is called ecological
succession . What you understand with the pioneer

and community in this context ?

° Watch Video Solution

9. Why the pyramid of energy is always upright ?

Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_MTyiNS2rGrpj
https://dl.doubtnut.com/l/_sPIpEeQrdenF
https://dl.doubtnut.com/l/_QYadOa1pRtmP

10."It is possible that a species may occupy more than
one trophic level in the same ecosystem at the same

time." Explain with the help of one example.

° Watch Video Solution

11. Apart from being part of the food chain, predators
play other important roles. Mention any two such roles

supported by examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_T5epnXR7VHzr
https://dl.doubtnut.com/l/_CNl1QRFrypg1

12. How are productivity, gross productivity, net
primary productivity and secondary productivity

interrelated ?

° Watch Video Solution

13. Your advice is sought to improve the nitrogen
content of the soil to be used for cultivation of a non-
leguminous terrestrial crop.

(a) Recommend two microbes that can enrich the soil
with Nitrogen.

(b)Why do leguminous crops not require such

enrichment of the soil?

S ]


https://dl.doubtnut.com/l/_xaDROdEvOLQg
https://dl.doubtnut.com/l/_rAgc7QBSvPtT

l @ \Watch Video Solution J

14. Justify the statement ,"Pyramid of energy is always

straight and can never be inverted "

° Watch Video Solution

15. The pyramid of biomass not always straight "

Explain the statement.

° Watch Video Solution



https://dl.doubtnut.com/l/_rAgc7QBSvPtT
https://dl.doubtnut.com/l/_NE7z4hkVWogF
https://dl.doubtnut.com/l/_NZIVBi4KqU2N

16. Construct a pyramid of biomass starting with
phytoplankton. Label its three trophic levels. Is the

pyramid upright or inverted ? Justify your answer.

o Watch Video Solution

Revision Exercises Iv Short Answer Type li Questions A

Questions From State Board Examinations

1. Define ecological pyramids and describe the pyramid

of number.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZUzl2bxOfhlR
https://dl.doubtnut.com/l/_M90aeffGnRYy
https://dl.doubtnut.com/l/_xjw86kZOgtjs

2. Explain ecological pyramids with suitable diagrams.

° Watch Video Solution

3.(a) Fill in the blanks .

Species A Species B Type of Interaction

e

+ | Ceeesismsasnrsmesasnie

(b) Define the following :

(1) Microhabitat (ii) Symbiosis (iii) Niche

° Watch Video Solution

4. Energy flow in an ecosystem is unidirectional .

Comment


https://dl.doubtnut.com/l/_xjw86kZOgtjs
https://dl.doubtnut.com/l/_FRxYm7nI7Gzu
https://dl.doubtnut.com/l/_SWm051ZNMYsq

° Watch Video Solution

5. Draw a simplified model of phosphorus cycling in a

terrestrial ecosystem.

° Watch Video Solution

6. Write a short note on carbon cycle .

° Watch Video Solution

7.What is ecological succession ? Explain succession of

plants on a bare rock.


https://dl.doubtnut.com/l/_SWm051ZNMYsq
https://dl.doubtnut.com/l/_QS2JHoBp3Oeo
https://dl.doubtnut.com/l/_6ICA1vh6jgys
https://dl.doubtnut.com/l/_THHkYBpIWDvq

° Watch Video Solution

8. What is primary productivity ? Explain factors

affecting it .

° Watch Video Solution

9. Define decomposition and describe the processes

and products of decomposition.

o Watch Video Solution



https://dl.doubtnut.com/l/_THHkYBpIWDvq
https://dl.doubtnut.com/l/_EJRu4wKIgHzv
https://dl.doubtnut.com/l/_tcUuLvLlOXB5

10. How does primary succession take place on a bare

rock ( xerarch).

° Watch Video Solution

11. Define ecological succession Give four different

between seral and climax community during such

° Watch Video Solution

12. What are various types of food chains . Explain

detritus food chain .

° Watch Video Solution



https://dl.doubtnut.com/l/_4j8hEiRmUE4T
https://dl.doubtnut.com/l/_cp2NDSUvPMWA
https://dl.doubtnut.com/l/_rWQZbGfjzoUB

13. Define standing crop. Why is the pyramid of

biomass in aquatic ecosystems inverted ?

° Watch Video Solution

14. Give an account of energy flow in an ecosystem.

° Watch Video Solution

15. Discuss the biotic components of a pond ecosystem

° Watch Video Solution



https://dl.doubtnut.com/l/_rWQZbGfjzoUB
https://dl.doubtnut.com/l/_u13RpHN5nCZ3
https://dl.doubtnut.com/l/_T3BG0hwtRqmb
https://dl.doubtnut.com/l/_78Prkl8ev3oq

16. Describe ecological pyramid of biomass .

° Watch Video Solution

17. What is food chain ? Explain its types .

o Watch Video Solution

18. Define food web ? Given its characters and example

° Watch Video Solution



https://dl.doubtnut.com/l/_78Prkl8ev3oq
https://dl.doubtnut.com/l/_ppgomeEPKa0e
https://dl.doubtnut.com/l/_tAmcqzfJeJFe
https://dl.doubtnut.com/l/_fXHOIId7ZwD9

19. What is ecological pyramid? Describe pyramid of

energy .

° Watch Video Solution

20. An ecosystem consists of the following population .
Phytoplankton, Man Fish, Zooplankton, Draw a food

chain denoting each trophic level.

° Watch Video Solution

21. What is food chain ? Mention the basis

characteristics of food chain .



https://dl.doubtnut.com/l/_QTVTf4uEw3FY
https://dl.doubtnut.com/l/_zJM5vWdmcv4n
https://dl.doubtnut.com/l/_E7pAyid34LlA

o Watch Video Solution J

22. What is ecological succession ? How Hydrarch

succession is different from xerarch succession ?

o Watch Video Solution

23. Write note on ecosystem services.

° Watch Video Solution

24. What is decomposition ? What climate factors

regular it ?



https://dl.doubtnut.com/l/_E7pAyid34LlA
https://dl.doubtnut.com/l/_vP6D7yf1op0S
https://dl.doubtnut.com/l/_7gPnxTIseGEb
https://dl.doubtnut.com/l/_eC9xLo1wdRem

I o Watch Video Solution

25. Describe primary succession in water .

o Watch Video Solution

26. The limitation of ecological pyramids is

° Watch Video Solution

27. Differentiate between carbon and phosphorus cycle

° Watch Video Solution



https://dl.doubtnut.com/l/_eC9xLo1wdRem
https://dl.doubtnut.com/l/_6m4TITUAIh8Z
https://dl.doubtnut.com/l/_6XapNOh4gphf
https://dl.doubtnut.com/l/_ghxHPdE8Lr04

28. Describe the role of bacteria in IV, - fixation .

° Watch Video Solution

29. Write any three differences between food-chain

and food - web

° Watch Video Solution

Revision Exercises Iv Short Answer Type li Questions B

Questions From Cbse Examinations



https://dl.doubtnut.com/l/_ghxHPdE8Lr04
https://dl.doubtnut.com/l/_vPfONycOyNTw
https://dl.doubtnut.com/l/_wqJKtrdUdeut

1. (@) In which ecosystem is the pyramid of biomass
inverted ?

(b) Why is it inverted Explain .

(c) Name the type of pyramid that is always upnight .

Given reasons .

° Watch Video Solution

2. Name the pioneer species on a bare rock. How do
they help in establishing the next type of vegetation?
Mention the type of climax community that will

ultimately get established.

° Watch Video Solution



https://dl.doubtnut.com/l/_xVyoUw6VqIBP
https://dl.doubtnut.com/l/_ullcB6c2ThGR

3. Construct an ideal pyramid of energy when
1,000,000 joules of sunlight is available. Label all its

trophic levels.

° Watch Video Solution

4. Differentiate between two different types of
pyramids of biomass with the help of one exmaple of

each.

° Watch Video Solution



https://dl.doubtnut.com/l/_ullcB6c2ThGR
https://dl.doubtnut.com/l/_90aGTNj1vQSD
https://dl.doubtnut.com/l/_ldT48EkqtPK9

5.i) What is primary productivity? Why does it vary in
different types of ecosystem?
i) State the relation between gross and net primary

productivity.

° Watch Video Solution

6. State the function of a reservoir in a nutrient cycle.

Explain the simplified model of carbon cycle in nature.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rkn4GQwdvnmz
https://dl.doubtnut.com/l/_CymzWWStpPH6

7. In a food-chain, a trophic level represents a

functional level, not a species. Explain.

° Watch Video Solution

8. Differentiate between primary and secondary

succession. Provide one example of each.

° Watch Video Solution

9. Describe the onter - relationship between
productivity , gross primary productivity and net

productivity.



https://dl.doubtnut.com/l/_7Xcqm7tDjnco
https://dl.doubtnut.com/l/_O45lapYo44Vi
https://dl.doubtnut.com/l/_MYHt8ZhD2aXb

° Watch Video Solution

10. (a) What is primary productivity of an ecosystem
and how is it expressed ?
(b) Explain what does the equation given below show :

NPP = GPP - R

o Watch Video Solution

11. (a) Name the type of detritus that decomposes
faster. List any two factors that enhance the rate of

decomposition.


https://dl.doubtnut.com/l/_MYHt8ZhD2aXb
https://dl.doubtnut.com/l/_GErvC2dkQB6g
https://dl.doubtnut.com/l/_wvKYTloPlNmW

(b) Write the different steps taken in humification and

memorisation during the process of decomposition.

o Watch Video Solution

Revision Exercises Vi Long Answer Type Questions A

Questions From State Board Examinations

1. What is food chain ? Describe all trophic levels of a

food chain with the help of examples.

o Watch Video Solution

2. Describe the ecological succession .



https://dl.doubtnut.com/l/_wvKYTloPlNmW
https://dl.doubtnut.com/l/_5Ss9iiGHoJIz
https://dl.doubtnut.com/l/_nJIyJPNf7VzF

I o Watch Video Solution

3. Write a note on decomposition,

° Watch Video Solution

4. Briefly explain the biotic components of an

ecosystem .

o Watch Video Solution

5. Explain energy flow in an ecosystem with suitable

diagrams.



https://dl.doubtnut.com/l/_nJIyJPNf7VzF
https://dl.doubtnut.com/l/_DoVVLShT9SS9
https://dl.doubtnut.com/l/_mQ62OT82Zgvb
https://dl.doubtnut.com/l/_6iDb5UxRG4cr

l o Watch Video Solution

6. All the solar energy trapped by green plants
ultimately returns to the environment'. Comment on

this statement.

o Watch Video Solution

7. Describe the various stages of succession in an

aquatic environment .

° Watch Video Solution



https://dl.doubtnut.com/l/_6iDb5UxRG4cr
https://dl.doubtnut.com/l/_OpSYCoV2pzxx
https://dl.doubtnut.com/l/_QRdi7pCdVCn1

8. Describe energy flow in an ecosystem

o Watch Video Solution

9. Draw an outline to show the carbon cycle in nature.

° Watch Video Solution

10. Defined ecological succession . Differential between

primary succession and secondary succession .

o Watch Video Solution



https://dl.doubtnut.com/l/_tQgK7r8akkpZ
https://dl.doubtnut.com/l/_REQSLHQL3g1G
https://dl.doubtnut.com/l/_j0yknW8NTUKZ

11. What are ecological pyramids ? Given is three types

with example .

° Watch Video Solution

12. Define ecological succession . Describe ecological

succession on a bare rock.

° Watch Video Solution

13. What is meant by ecological pyramid ? Name the

different types of ecological pyramids.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q9YH0zEKI09u
https://dl.doubtnut.com/l/_twHN486Onf4k
https://dl.doubtnut.com/l/_k7cZax6CgHaB

14. (a) Explain the significance of ecological pyramids
with the help of an example.
(b) Why are the pyramids referred to as ‘upright’ or

‘inverted’? Explain.

° Watch Video Solution

15. Explain different states of biotic succession on bare

rock.

o Watch Video Solution



https://dl.doubtnut.com/l/_k7cZax6CgHaB
https://dl.doubtnut.com/l/_MNGHfSSDwq7a
https://dl.doubtnut.com/l/_HhezAxpOUGch

16. What is ecosystem ? Discuss its different
components with specific example of pond as an

ecosystem.

° Watch Video Solution

17. Briefly explain the biotic components of an

ecosystem .

° Watch Video Solution

18. Describe the process of the flow of energy in

different trophic levels of an ecosystem .



https://dl.doubtnut.com/l/_Wq1vte1BRoWU
https://dl.doubtnut.com/l/_vlMgyTG8lTrT
https://dl.doubtnut.com/l/_pGS5q0efv18f

I o Watch Video Solution

19. Define ecological succession . Describe the general

process of plant succession with an example .

o Watch Video Solution

Revision Exercises Vi Long Answer Type Questions B

Questions From Cbse Examinations

1. Explain the carbon cycle with the help of a simplified

model.

o Watch Video Solution



https://dl.doubtnut.com/l/_pGS5q0efv18f
https://dl.doubtnut.com/l/_rzru6uNpfwkC
https://dl.doubtnut.com/l/_rHaadD3KSGrf

2. Explain how does : (a) a primary succession start on
a bare rock and reach a climax community?
(b) the algal bloom eventually choke the water body in

an industrial area?

° Watch Video Solution

3. Draw a 'pyramid of numbers' of a situation where a
large population of insects feed upon a very big tree.
The insects in turn, are eaten by small birds which in
turn are fed upon by big birds.

(b) Differentiate giving reason, between the pyramid of


https://dl.doubtnut.com/l/_Y6oVglWYUQdh
https://dl.doubtnut.com/l/_9b9SLUYMvtUL

biomass of the above situation and the pyramid of

numbers that you have drawn.

° Watch Video Solution

4. (a) Explain the significance of ecological pyramids
with the help of an example.
(b) Why are the pyramids referred to as ‘upright’ or

‘inverted’? Explain.

° Watch Video Solution

5. (a) Explain primary productivity and the factors that

influence it.


https://dl.doubtnut.com/l/_9b9SLUYMvtUL
https://dl.doubtnut.com/l/_f5mzFdC57QgT
https://dl.doubtnut.com/l/_l7qFsGXX3hLS

(b) Describe how do oxygen and chemical composition

of detritus control decomposition .

° Watch Video Solution

6. Describe the advantages for keeping the ecosystem

healthy.

° Watch Video Solution

7. 1t is often said that the pyramid of energy is always
upright. On the other hand, the pyramid of biomass
can be both upright and inverted." Explain with the

help of example and sketches .


https://dl.doubtnut.com/l/_l7qFsGXX3hLS
https://dl.doubtnut.com/l/_7B6rENq82QLi
https://dl.doubtnut.com/l/_BE5EOwe9uTHu

O Watch Video Solution

8. (a) Taking an example of a small pond, explain how
the four components of an ecosystem function as a
unit.

(b) Name the type of food chain that exists in a pond.

° Watch Video Solution

9. Discuss the role of healthy ecosystem services as a
pre-requisite for a wide range of economic,

environmental and aesthetic goods and services.

o Watch Video Solution



https://dl.doubtnut.com/l/_BE5EOwe9uTHu
https://dl.doubtnut.com/l/_Brn0zXEYpdWI
https://dl.doubtnut.com/l/_rjosnp0tTsIe

10. (a) What is an ecological pyramid ? Compare the
pyramids of energy, biomass and numbers.

(b) Write any two limitations of ecological pyramids.

° Watch Video Solution

11. (a) What is a trophic level in an ecosystem ? What is
'standing crop' with reference to it?

(b) Explain the role of the 'first trophic level' in an
ecosystem.

(c) How is the detritus food chain connected with the

grazing food chain in a natural ecosystem ?

[ ° Wiakrh \lidAanAn CAaliikian



https://dl.doubtnut.com/l/_rjosnp0tTsIe
https://dl.doubtnut.com/l/_v0cMUOAMOOn3
https://dl.doubtnut.com/l/_ZFmAIsAa9Iot

\ VYVOULGIL VINMGY JVIUVLGIVIET ) |

12. Given below is a table depicting population

interactions between SQPecies A and SQPecies B.

Type of interaction SQPecies A SQPecies B
(a) (—) (+)
(b) (+) (—)

Name the type of interactions (a) and (b) in the above
table.
Justify giving three reason, how the type of interaction

(b) is important in an ecological context

o Watch Video Solution

Competition File Objective Type Questions A Multiple

Choice Questions



https://dl.doubtnut.com/l/_ZFmAIsAa9Iot
https://dl.doubtnut.com/l/_h9OIl2ak8uPz

1. Which one of the following pairs is correctly

matched ?

A. Rhizobium - parasite in the roots of leguminous

plants

B. Mycorrhizae - Mineral uptake from soil

C. Yeast - product of biogas

D. Myxomycetes - The disease ringworm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pIg2QFjplr5V

2. About 70% of total global carbon is found in

A. Oceans

B. Forests

C. Grasslands

D. Agroecosystems

Answer: A

° Watch Video Solution

3. Quercus species is the dominant component in

A. Scrub forests


https://dl.doubtnut.com/l/_M26RmKJhpqIt
https://dl.doubtnut.com/l/_XElcByjAwEwe

B. Tropical rain forests

C. Temperature deciduous forests

D. Alpine forests

Answer: C

° Watch Video Solution

4. Consider the following statements conerning food
chains

(i) Removal of 80% tigers from an area resulted in
greatly increased growth of vegetation

(i) Removal of most of the carnivores resulted in an

increased population of deers


https://dl.doubtnut.com/l/_XElcByjAwEwe
https://dl.doubtnut.com/l/_ODmcEKy7G3FW

(iii) The length of food chains is generally limited to 3 -
4 trophic levels due to energy loss
(iv) The length of food chains may vary from 2 to 8
trophic levels
Which two of the above statements are correct?

A 14

B. 1.2

C.2;3

D.34

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ODmcEKy7G3FW
https://dl.doubtnut.com/l/_l1s43bMsrI61

5. Slow rate of decomposition of fallen logs in nature is

due to

A. Anaerobic environment around them

B. Low cellulose contact

C. Low moisture content

D. Poor nitrogen content

Answer: D

° Watch Video Solution

6. Which of the following is expected to have the

highest value (gm/m?/yr) in a grassland


https://dl.doubtnut.com/l/_l1s43bMsrI61
https://dl.doubtnut.com/l/_GLe1fOJjLZez

ecosystem?

A. Secondary production (SP)

B. Tertiary production (TP)

C. Gross production (GP)

D. Net production (NP)

Answer: C

° Watch Video Solution

7. Which one of the following is not used for

construction of ecological pyramids

A. Dry weight


https://dl.doubtnut.com/l/_GLe1fOJjLZez
https://dl.doubtnut.com/l/_Pk4EMzr2Xl5E

B. Number of individuals

C. Rate of energy flow

D. Fresh weight

Answer: A

° Watch Video Solution

8. Decomposers are

A. Autotrophs

B. Autoheterotrophs

C. Organotrophs


https://dl.doubtnut.com/l/_Pk4EMzr2Xl5E
https://dl.doubtnut.com/l/_p1nHLkv3qFr1

D. Heterotrophs

Answer: C

° Watch Video Solution

9. The great barrier reef along the east coast of

Australia can be categorized as

A. Population

B. Community

C. Ecosystem

D. Biome


https://dl.doubtnut.com/l/_p1nHLkv3qFr1
https://dl.doubtnut.com/l/_yxu0ZfL61vL7

Answer: C

° Watch Video Solution

10. The amount of usable energy which is available for

doing work when the temperature and pressure are

uniform throughout the system is called

A. Enthalpy

B. Activation energy

C. Spontaneous energy

D. free energy

Answer: D


https://dl.doubtnut.com/l/_yxu0ZfL61vL7
https://dl.doubtnut.com/l/_sdxZ4kHpKq87

° Watch Video Solution

11. Which of the following is considered as pioneer

community is xerarch?

A. Annual herb

B. Perennial herb

C. Scrub stage

D. Lichen

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_sdxZ4kHpKq87
https://dl.doubtnut.com/l/_yOkZAEas9XIZ
https://dl.doubtnut.com/l/_welp5xcMIkQw

12. Approximately how much of the solar energy that

falls on the leaves of a plant is converted to chemical

energy by photosynthesis

A 1%

B.10 %

C.100 %

D. 60 %

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_welp5xcMIkQw

13. In which habitat does the diurnal soil temperature

vary most ?

A. Sea

B. Lake

C. Tundra

D. Desert

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_doy09qxm9xT4

14. Which type of the following has inverted pyramid of

energy

A. Grassland

B. Tree

C.Both of these

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vsCumlB16uC1

15. Which of the following ecosystem has very little

primary productivity?

A. Forest

B. River

C.sea

D. Grassland

Answer: B

° Watch Video Solution

16. Free-living nitrogen-fixing aerobic bacterium is


https://dl.doubtnut.com/l/_EtrmfLLJq2ao
https://dl.doubtnut.com/l/_7OnLXEDeIOyT

A. Clostridium

B. Rhizobium

C. Azotobacter

D. Frankie

Answer: C

° Watch Video Solution

17. Identify the plant belonging to the reed-swamp

stage in hydrosere succession

A. Juncus

B. Sagittaria


https://dl.doubtnut.com/l/_7OnLXEDeIOyT
https://dl.doubtnut.com/l/_TyGzeMlhEMUJ

C. Salix

D. Trapa

Answer: B

° Watch Video Solution

18. The flow of energy along various trophic levels of an

ecosystem is :

A. Unidirectional

B. Bidirectional

C. Multidirectional

D. Circular


https://dl.doubtnut.com/l/_TyGzeMlhEMUJ
https://dl.doubtnut.com/l/_652XZC9dsTzm

Answer: A

o Watch Video Solution

19. Decomposition of organic matter is brought about

by:

A. Protozoans

B. Plants

C. Micro-organisms

D. None of these

Answer: C

[ O Watch Video Solution


https://dl.doubtnut.com/l/_652XZC9dsTzm
https://dl.doubtnut.com/l/_Ky2yJyz1kKRs

20. An interaction between two individuals where one

is benefitted while the other is neither benefitted nor

harmed is called as

A. Prediction

B. Mutualism

C. Commensalism

D. Parasitism

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ky2yJyz1kKRs
https://dl.doubtnut.com/l/_scQGZw5EC7di
https://dl.doubtnut.com/l/_AqgIMCQ5AI6W

21. The correct sequence of plants in a hydrosere is

A.Oak — Lantana — Scrirpus — Pistia —

Hydrilla — Volvox

B.Volvox — Hydrilla — Pistia — Scirpus —

Lantana — Oak

C.Pistia — WVolvox — Scirpus — Hydrilla —

Oak — Lantana

D.Oak — Lantana — Volvox —

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AqgIMCQ5AI6W
https://dl.doubtnut.com/l/_pu7jKIBXdZL1

22. Which one of the following types of organisms
occupy more than one trophic level in a pond
ecosystem?

A. Phytoplanktons

B. Fish

C. Zooplanktons

D. Frog

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pu7jKIBXdZL1

23. Which of the following is a symbiotic nitrogen fixer

?

A. Glomus

B. Azotobacter

C. Frankie

D. Azolla

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fcOjdQ5DqTbc

24. Which of the following rain forests is home to more
than 10000 species of plants 3000 of fishes, 1300 of
birds, 427 of mammals, 427 of amphibians, 378 of
reptiles and more than 125000 invertebrates?

A. Amazonian

B. Tropical

C. Arctic tundra

D. Temperate

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HrnviTn4tnj6
https://dl.doubtnut.com/l/_AJkz4ANQNzIb

25. Which of the following fixes atmospheric N, ?

A. Notice

B. Algae

C. Methanogens

D. none of these

Answer: A

° Watch Video Solution

26. Pyramid of energy in a ecosystem is :

A. Always upnight


https://dl.doubtnut.com/l/_AJkz4ANQNzIb
https://dl.doubtnut.com/l/_6zFnRrf3sNy8

B. Always erect

C. Constant

D. Declining

Answer: A

° View Text Solution

27. Animals of colder climates generally have smaller

limbs. This is called :

A. Niche rule

B. Allen's rule

C. Ehrilch rule


https://dl.doubtnut.com/l/_6zFnRrf3sNy8
https://dl.doubtnut.com/l/_RNadDK712R7W

D. None of these

Answer: B

o Watch Video Solution

28.The percentage of precipitation that can be stored

in dame of India is :

A.55

B.18

C.10

D. 43


https://dl.doubtnut.com/l/_RNadDK712R7W
https://dl.doubtnut.com/l/_5nwZhu8Wv1Kg

Answer: C

° View Text Solution

29. The least porous soil among the following is a:

A. Loamy soil

B. Silty soil

C. Clayey soll

D. Peaty soil

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5nwZhu8Wv1Kg
https://dl.doubtnut.com/l/_DBSvOdzRXvk7

30. The final stable community in ecological succession

is:

A. Pioneers

B. sere

C. Carnivores

D. Climax

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LlvYDnt5JKbF

31. The greatest problem of water conservation is to

reduce the amount of

A. Precipitation

B. Runoff water

C. Ground water

D. Evaporation

Answer: B

° Watch Video Solution

32. An example of symbiotic bacterium is


https://dl.doubtnut.com/l/_E84XwN9zwfqt
https://dl.doubtnut.com/l/_sSIXOZoAWhr9

A. Erwinia anylovora

B. Rhizobium leguminosarum

C. Xanthomonas compestris

D. Agrobacterium tumefaciens

Answer: B

° Watch Video Solution

33. In root nodules of lengumes, leg-haemoglobin is

important because

A. If transports O, to root nodules

B. If acts as oxygen scavenger


https://dl.doubtnut.com/l/_sSIXOZoAWhr9
https://dl.doubtnut.com/l/_AwN6Ar5dfqhn

C. It provides energy to nitrogen fixing bacterium

D. It acts as Catalyst in transamination

Answer: B

° Watch Video Solution

34. In an aquatic ecosystem, the trophic level

equivalent to cows in grasslands is

A. Phytoplankton

B. Zooplanktons

C. Nektons

D. Benthos


https://dl.doubtnut.com/l/_AwN6Ar5dfqhn
https://dl.doubtnut.com/l/_MA32Bq2MIaJE

Answer: B

o Watch Video Solution

35. Deserts , grasslands, forests and tundra are the

examples of :

A. Biomass

B. Biogeographical realms

C. Ecosystems

D. Biospheres

Answer: A

I O Watch Video Solution


https://dl.doubtnut.com/l/_MA32Bq2MIaJE
https://dl.doubtnut.com/l/_kMKaT9bc2wv7

36. Which of the following is a free-living nitrogen

fixing bacterium present in the soil ?

A. Nitrosomonas

B. Rhizobium

C. Pseudomonas

D. Azotobacter

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kMKaT9bc2wv7
https://dl.doubtnut.com/l/_uVEMsIRq62az

37. In plant succession, when climax community is

reached, the net productivity?

A. Continues to increase

B. Become zero

C. Become reduced

D. Become stable

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_onDqB35P1c16

38. Study the four statement (i-iv) given below and
select the two correct ones out of them

(i) Alion eating a deer and a sparrow feeding or grains
are ecologically similar in being consumers.

(i) Predator star fish Pisaster helps in maintaining
species diversity of some invertebrates

(iii) Predators ultimately lead to the extinction of prey
species

(iv) Production of chemicals such as nicotine,
strychnine by the plants are metabolic disorders

The two correct statements are

A. (ii) and (iii)

B. (iii) and (iv)


https://dl.doubtnut.com/l/_h38KsMUxQrWo

C. (i) and (iv)

D. (i) and (ii)

Answer: D

° Watch Video Solution

39. The biomass available for consumption by the

herbivores and the decomposers is called

A. Net primary productivity

B. secondary productivity

C. standing crop

D. Gross primary productivity


https://dl.doubtnut.com/l/_h38KsMUxQrWo
https://dl.doubtnut.com/l/_4k9ktgQ7RDiU

Answer: A

o Watch Video Solution

40. One of the free nitrogen - fixed in paddy fields is :

A. Beijernickia

B. Rhodospirillum

C. Rhizobium

D. Azotobacter

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4k9ktgQ7RDiU
https://dl.doubtnut.com/l/_tou4xwlGEXsA

41.the common nitrogen - fixer in paddy fields is

A. Rhizobium
B. Azospirillum
C. Oscillatoria

D. Frankie

Answer: B

° Watch Video Solution

42. Which one of the following is one of the

characteristics of a biological community?


https://dl.doubtnut.com/l/_H1PIQkV5yAud
https://dl.doubtnut.com/l/_oHfv5BIuu77m

A. Stratification

B. Nasality

C. Mortality

D. sex ratio

Answer: A

° Watch Video Solution

43. Which one of the following is most appropriately

defined?

A.Host is an organism which provides food to

another organism


https://dl.doubtnut.com/l/_oHfv5BIuu77m
https://dl.doubtnut.com/l/_7zU0mZtSvmHr

B. Amensalism is a relationship in which one

species is benefitted while the other s

unaffected

C.Predator is an organism that catches and kills

other organism for food

D. Parasite is an organism which always lives inside

the body of other organism and may kill it

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7zU0mZtSvmHr

44. Study the cycle shown in Fig. 12.7 and select the
option which gives correct words for all the four

blanks A, B, C, and D.

Atmospheric N, X
Biological Industrial Electrical 1}\\
N, fixation N, fixation N, fixation

(Uptake)

Decaying
biomass



https://dl.doubtnut.com/l/_5hbliajAqSzA

A B C D

nitrification ammonification animals plants

B.
A B C D
denitrification ammonification plants animals
A B C D

" nitrification denitrification animals plants

D.
A B C D
denitrification nitrification plants animals

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5hbliajAqSzA

45. Which of the ecological pyramids is always upright

?
A. Pyramid of number
B. Pyramid of biomass
C. Pyramid of energy
D. None of these
Answer: C

° Watch Video Solution

46. Population are said to be sympatric when


https://dl.doubtnut.com/l/_iQlJGwA6BpHe
https://dl.doubtnut.com/l/_zyEQpjZI6Jj4

A.Two populations live together and freely

interbreed to produce sterile offsprings .

B.Two populations are physically isolated by

natural barriers

C.Two populations are isolated but occasionally

come together to interbreed

D. Two populations share the same environment

but cannot interbreed

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zyEQpjZI6Jj4

47. A large regional unit characterised by vegetation

type and associated fauna found in a specific climatic

zone is called:

A. Ecosystem

B. Biological community

C.Biome

D. Biosphere

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fNmc02FmmtZe

48. In primary succession on rocks, the pioneer species

are usually:

A. Algae

B. Fungi

C. Lichens

D. Bryophytes

Answer: C

o Watch Video Solution

49, The "10 per cent law" is related to:


https://dl.doubtnut.com/l/_C6g93CEXiuf8
https://dl.doubtnut.com/l/_s2QHbZlMh9yr

A. Mendelian genetics

B. Non-Mendelian genetics

C.Energy transfer from lower trophic to higher

trophic level .

D. Energy consumption during photosynthesis in

C, plants

Answer: C

° Watch Video Solution

50. A phenomenon when a parasite parasitizes another

parasite is known as :


https://dl.doubtnut.com/l/_s2QHbZlMh9yr
https://dl.doubtnut.com/l/_nyGr6EmxtHRX

A. Hyperparasitism

B. Parasitoids

C. Monozenous parasitism

D. Polyxenous parasitism

Answer: A

° Watch Video Solution

51. The type of ecosystem with the highest mean plant

productivity is :

A. Desert

B. Temperate grassland


https://dl.doubtnut.com/l/_nyGr6EmxtHRX
https://dl.doubtnut.com/l/_kF4Uz4HnJsS7

C. Tropical rain forest

D. Tundra

Answer: C

° Watch Video Solution

52. Bell-shaped polygonal pyramid indicates.

A. High percentage of young individuals

B. Moderate percentage of young individuals

C. Low percentage of young individuals

D. Low percentage of old individuals


https://dl.doubtnut.com/l/_kF4Uz4HnJsS7
https://dl.doubtnut.com/l/_a2MdtcgBGYVD

Answer: B

o Watch Video Solution

53. The transition zone between two communities is

known as:

A. Ecosphere

B. Ecotone

C. Ecocline

D. Rhizosphere

Answer: B

I ° Watch Video Solution


https://dl.doubtnut.com/l/_a2MdtcgBGYVD
https://dl.doubtnut.com/l/_vZk7WhzoPTDS

54.In India, tropical rain forests occur in

A. Jammu & Kashmir

B. Andamans

C. Uttar Pradesh

D. Himachal Pradesh

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vZk7WhzoPTDS
https://dl.doubtnut.com/l/_HUR5gomPDkOJ

55. Which one of the following is a denitrifying

bacterium ?

A. Nitrobacter

B. Nitrosomonas

C. Pseudomonas

D. Escherichia coli

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_s7K8VTq1Kpcp

56. Some of the nutrient cycles are labelled as below.
1. Sulphur cycle, Phosphorus cycle, 3. Carbon cycle and
4. Nitrogen cycle.
Of these, the sedimentary cycle is represented by:

A. A-only

B.B -only

C.C-only

D. A and B only

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WowZuJ0MneOa
https://dl.doubtnut.com/l/_1TfG4gqlvXzJ

57. Which of the following statements regarding

decomposition is false?

A.Warm and moist environment favours

decomposition

B. Decomposition rate is slower if detritus is rich in

chitin and lignin

C. Earthworm is detritivore

D. Precipitation of soluble inorganic nutrients into

soil horizon as unavailable salt is called

mineralisation

Answer: D

| |


https://dl.doubtnut.com/l/_1TfG4gqlvXzJ

[ W Watch Video Solution J

58. Barnacles growing on the back of whale is an

example for :

A. Mutualism

B. Commensalism

C. Parasitism

D. Amensalism

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1TfG4gqlvXzJ
https://dl.doubtnut.com/l/_xZDiCWVFiuhf

59. The alien species introduced into Lake Victoria that

was responsible for the extinction of cichild fishes is

A. African catfish

B. Water hyacinth

C. Carrot grass

D. Nile perch

Answer: D

° Watch Video Solution

60. In ecosystem, cycling of nutrients is called


https://dl.doubtnut.com/l/_0RydkdqQydiA
https://dl.doubtnut.com/l/_muVvZkyZhQM4

A. Geological cycle

B. Chemical cycle

C. Geochemical cycle

D. Biogeochemical cycle

Answer: D

° Watch Video Solution

61. In ecological succession the climax community is

best recognised by the following state

A.P=R

B.P >R


https://dl.doubtnut.com/l/_muVvZkyZhQM4
https://dl.doubtnut.com/l/_I7rtl8pt89uS

CP<R

D.P+R

Answer: A

° Watch Video Solution

62. The loss of energy as one proceeds from one

trophic level to the next higher level is approximately

A. 30 %

B.40 %

C.60 %

D. 90 %


https://dl.doubtnut.com/l/_I7rtl8pt89uS
https://dl.doubtnut.com/l/_P7KllRuiFaNO

Answer: D

o Watch Video Solution

63. Which of the following representations shown the

pyramid of number in a forest ecosystem ?

A.D

B.A

C.B


https://dl.doubtnut.com/l/_P7KllRuiFaNO
https://dl.doubtnut.com/l/_nZGtXxd9DGOV

D.C

Answer: C

° View Text Solution

64. Mass of living matter at a trophic level in an area at

any time is called:

A. Standing crop

B. Detritus

C. Humus

D. Standing state


https://dl.doubtnut.com/l/_nZGtXxd9DGOV
https://dl.doubtnut.com/l/_fBnYZxSdHiQS

Answer: A

o Watch Video Solution

65. Of the total incident solar radiation the proportion

of PAR is:

A. About 70%

B. About 60%

C. Less than 50%

D. More than 80%

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_fBnYZxSdHiQS
https://dl.doubtnut.com/l/_kujPX6SUdK5l

66. Large woody vines are more commonly found in

° Watch Video Solution

67. An organism used as a biofertilizer for raising

soyabean crop is:-

A. Azotobacter

B. Azospirillum

C. Rhizobium

D. Nostoc


https://dl.doubtnut.com/l/_kujPX6SUdK5l
https://dl.doubtnut.com/l/_oA2x4KRphEi8
https://dl.doubtnut.com/l/_WhgtJXxfY7yU

Answer: C

o Watch Video Solution

68. Nitrifying bacteria

A. Oxidise ammonia to nitrates

B. Convert free nitrogen to nitrogen compounds

C. Convert proteins to ammonia

D. Reduce nitrates to free nitrogen

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WhgtJXxfY7yU
https://dl.doubtnut.com/l/_ckJ9xhQU3dvf

69. Which one of the following statements for pyramid

of energy is incorrect, whereas the remaining three are

correct?

A. Its base is broad

B.It shows energy content of different trophic

levels

C. It is inverted in shape

D. It is upright in shape

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MRxNyJGi0uNN
https://dl.doubtnut.com/l/_KeOcJmpkX63s

70. The function of leghaemoglobin in the root

nodules of legumes is

A. Inhibition of nitrogenise activity

B. Oxygen removal

C. Nodule differentiation

D. Expression of nif gane

Answer: B

° Watch Video Solution

71. Which one of the following statements is correct

for secondary succession?


https://dl.doubtnut.com/l/_KeOcJmpkX63s
https://dl.doubtnut.com/l/_2VzXRoC8Vwxn

A. It begins on a bare rock

B. It occurs on a deforested site

C. It follows primary succession

D. It is similar to primary succession except that it

has relatively fast pace

Answer: B

o Watch Video Solution

72. Function of leghemoglobin (a red pigment) in root

nodules of leguminous plants is

A.To regulate Oy supply in cells


https://dl.doubtnut.com/l/_2VzXRoC8Vwxn
https://dl.doubtnut.com/l/_EVS7JYDq2dGl

B. To regulate C'O, supply in cells

C. To regulate production of phenolic compounds

D. To regulate MO supply in cells

Answer: A

° Watch Video Solution

73. Which of the following statements regarding

decomposition is false?

A. In aquatic ecosystem grazing food chain is major

conduit conduit for energy flow


https://dl.doubtnut.com/l/_EVS7JYDq2dGl
https://dl.doubtnut.com/l/_kbjhg1qU6Ey2

B.In terrestrial ecosystem , a large fraction of

energy flows through detritus food chain

C. Detritus food chain begins with dead organic

matter

D. Animals like cockroaches and crows are

omnivorous

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_kbjhg1qU6Ey2

74. Select the correct match:

1 Sedimentary nutrient cycle
2 Pioneer species
3 secondary succession
4 Pyramid of biomass
in sea
A.A,B & D only
B.A& Conly

C.B & Conly

D.B & D only

Answer: C

Nitrogen cycle
Lichens
Burned forests
Upright

0 Watch Video Solution



https://dl.doubtnut.com/l/_TkDRP15Zg7T3
https://dl.doubtnut.com/l/_CfnuNp81qSCo

75. In grazing food chain, carnivores may also referred

to as:

A. Primary producers

B. secondary productivity

C. Primary consumers

D. Secondary consumers .

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CfnuNp81qSCo

76. Select the correct match

(A) Nirosomonas - Nitrite to nitrate

(B) Thiobacillus - Denitrification

(C) Nostoc - Free-living nitrogen-fixer
)

(D) Azotobacter -  Anaerobic nitrogen-fixer

A.A&B
B.C&D
C.B&C

D.B&D

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2798IXdtqc5w

77. Major ecological community of plants and animals

extending over large natural area is known as:

A. Bioregion

B. Biosphere

C.Biote

D. Biome

Answer: D

° Watch Video Solution

78. Standing crop refers to:


https://dl.doubtnut.com/l/_CnqLLntRgl30
https://dl.doubtnut.com/l/_E3Tsxe9pZsxR

A. All the photosynthetic living forms in an area

B. All the living forms in an area

C.Amount of living matter in a component

population of an ecosystem at any time

D. All of the crop plants in an area

Answer: C

° Watch Video Solution

79. Which one of the following is denitrifying bacteria ?

A. Nitrosomonas


https://dl.doubtnut.com/l/_E3Tsxe9pZsxR
https://dl.doubtnut.com/l/_Vjytrxw55bfP

B. Pseudomonas

C. Azotobacter

D. Nostoc

Answer: B

° Watch Video Solution

80. Littoral zone is located along the:

A. High mountains

B. Sea

C. Rivers


https://dl.doubtnut.com/l/_Vjytrxw55bfP
https://dl.doubtnut.com/l/_aDV0m2Irykqj

D. Deserts

Answer: B

o Watch Video Solution

81. "Complete competitors cannot coexist" is true for:

A. Character displacement
B. Competitive exclusion
C. Primary succession

D. Secondary succession

Answer: B



https://dl.doubtnut.com/l/_aDV0m2Irykqj
https://dl.doubtnut.com/l/_cdz8P2dfQTbC

Watch Video Solution J

82. Which of the following groups is absolutely

essential functional component of the ecosystem?

A. Producers

B. Producers and herbivores

C. Producers and detritivores

D. Detritivores

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cdz8P2dfQTbC
https://dl.doubtnut.com/l/_lTbT7frrjrpw
https://dl.doubtnut.com/l/_Aimz3HnpN6X3

83. Which of the following pyramids is always upright

and can never be inverted ?

A. Pyramid of biomass

B. Pyramid of numbers

C. Pyramid of energy

D. Both (a) and (c)

Answer: C

° Watch Video Solution

84. Most diverse organism of an ecosystem is:


https://dl.doubtnut.com/l/_Aimz3HnpN6X3
https://dl.doubtnut.com/l/_ODhx0crMV5iC

A. Producers

B. Consumers

C. Carnivores

D. Decomposers

Answer: D

° Watch Video Solution

85. Energy flow in an ecosystem is

A. Bidirectional

B. Unidirectional


https://dl.doubtnut.com/l/_ODhx0crMV5iC
https://dl.doubtnut.com/l/_4m7yWbsRh98c

C. All around

D. None of these

Answer: B

° Watch Video Solution

86. Primary consumers are :

A. Carnivores

B. Herbivores

C. Decomposers

D. Omnivores


https://dl.doubtnut.com/l/_4m7yWbsRh98c
https://dl.doubtnut.com/l/_38YAaVQ6FcSn

Answer: B

° Watch Video Solution

87. When two ecosystem overlap each other , the

overlapped area is called :

A. Habitat

B. Niche

C. Ecotone

D. Ecotype

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_38YAaVQ6FcSn
https://dl.doubtnut.com/l/_1twVb4jHXJZx

88. Which one of the following is not a gaseous

biogeochemical cycle in ecosystem?

A. Sulphur cycle

B. Phosphorus cycle

C. Nitrogen cycle

D. Carbon cycle

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1twVb4jHXJZx
https://dl.doubtnut.com/l/_ds5TUuIBMZiR

89. Given below is an imaginary pyramid of numbers.
What could be one of the possibilities about certain
organisms at some of the different levels?

TC
= 10

' 50
PC \ | \5%
PP \ \ .

A. Level PC is "insects and level SC is "small
insectivorous birds "
B. Level PP is "phytoplanktons" in sea and whale on

top level SC

C. Level one PP is "pipal tree" and level SC is "sheep"


https://dl.doubtnut.com/l/_aLTyJW6mVZ3b

D. Level PC is "rats" and level SC is "cats"

Answer: A

° Watch Video Solution

90. Which one of the following is not a functional unit

of an ecosystem

A. Energy flow

B. Decomposition

C. Productivity

D. Stratification


https://dl.doubtnut.com/l/_aLTyJW6mVZ3b
https://dl.doubtnut.com/l/_7aN7OciA3I2H

Answer: D

o Watch Video Solution

91. The upright pyramid of number is absent in:

A. Pond

B. Forest

C. Lake

D. Grassland

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7aN7OciA3I2H
https://dl.doubtnut.com/l/_sLJVnHzQ23Jp

92. The detritus food chain begins with:

A. Primary producers

B. Primary consumers

C. Secondary consumers

D. Dead organic matter

Answer: D

° Watch Video Solution

93. Dentrification is carried out by

A. Pseudomonas


https://dl.doubtnut.com/l/_SsRckPanhzbH
https://dl.doubtnut.com/l/_VZdPLklTQxdR

B. Nitrobacter

C. Nitrosomonas

D. Nitrococcus

Answer: A

° Watch Video Solution

94. Lichen is an association between

A. Fungi and bryophyte

B. Fungi and algae

C. Algae and pteridophyte


https://dl.doubtnut.com/l/_VZdPLklTQxdR
https://dl.doubtnut.com/l/_dBacOOwPc2fE

D. Algae and bacteria

Answer: B

° Watch Video Solution

95. Which one of the following has the largest

population in a food chain ?

A. Producers

B. Primary consumers

C. Secondary consumers

D. Decomposers


https://dl.doubtnut.com/l/_dBacOOwPc2fE
https://dl.doubtnut.com/l/_nxtnNQHJPfyM

Answer: D

o Watch Video Solution

96. The Iimportant steps in the process

decomposition are

A. Fragmentation and mineralization

B. Leaching and catabolism

C. Humification and mineralization

Answer: D

of

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_nxtnNQHJPfyM
https://dl.doubtnut.com/l/_dJIiUEPW5HDA

97.1n an ecosystem , at a particular time, standing crop

includues

A. Total living material

B. Total detritus

C. Both (a) and (b)

D. Total nutrients in the crop

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dJIiUEPW5HDA
https://dl.doubtnut.com/l/_9lrUhllIFaWC

98. In a pyramid of biomass, if the total dry weight
(k:g/m2) of primary producers is about 809 it will
decrease at tertiary consumer level upto

A.37kg /m?

B. 11kg /m?

C.5kg/m?

D. 1.5kg /m?

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wtsdbVpt82Cd

99. Leghaemoglobin is produced in response to

A. Respiration

B. Photosynthesis

C. Fatty acid synthesis

D. N, fixation

Answer: D

° Watch Video Solution

100. Which of the following relations is correct

regarding GPP and NPP of an ecosystem ?


https://dl.doubtnut.com/l/_XTwE8ZT3U1gY
https://dl.doubtnut.com/l/_Va8kD2Kx79mV

A. NPP = GPP - Animal consumption

B. NPP = GPP + Plant respiration

C. NPP = GPP - Plant respiration

D. NPP = GPP + Animal consumption

Answer: C

° Watch Video Solution

101. Ecosystems having the highest

productivity in

A. Oceans

B. Pond

primary


https://dl.doubtnut.com/l/_Va8kD2Kx79mV
https://dl.doubtnut.com/l/_DFxRYUnTAh5i

C. Desert

D. Forest ecosystem

Answer: D

° Watch Video Solution

102. In a particular climatic condition, decomposition

rate is slower if:

A. Detritus is rich in nitrogen

B. Detritus is rich in humus

C. Detritus is rich in sugars

D. Detritus is rich in lignin and chitin


https://dl.doubtnut.com/l/_DFxRYUnTAh5i
https://dl.doubtnut.com/l/_rdSTo2Kxr9iv

Answer: D

° Watch Video Solution

103. An inverted pyramid of number and an inverted

pyramid of biomass are respectively seen in:

A. Grassland and tree ecosystem

B. sea and tree ecosystem

C. Tree and grassland ecosystem

D. Sea and grassland ecosystem

Answer: C

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_rdSTo2Kxr9iv
https://dl.doubtnut.com/l/_bWgLQqcHX8Td

104. Which of the following is a pioneer in xerarch

succession ?

A. Phytoplanktons

B. Lichens

C. Bryophytes

D. Rooted hydrophytes

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bWgLQqcHX8Td
https://dl.doubtnut.com/l/_SMoDEU1CSYyc

105. The biomass available for consumption to

heterotrophs and the rate formation of new organic

matter by consumers are defined as

A. Gross primary productivity and net primary

productivity respectively

B.Net primary productivity and gross primary

productivity respectively

C.Gross primary productivity and net secondary

productivity respectively

D.Net primary productivity and gross secondary

productivity respectively


https://dl.doubtnut.com/l/_efhKbIvf4uEf

Answer: D

o Watch Video Solution

106. Which one of the following is a primary consumer?

A. Lion

B. Birds

C. Grasshopper

D. Wolf

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_efhKbIvf4uEf
https://dl.doubtnut.com/l/_kt8a1IobgXF4

107. Which of the following is primary producer ?

A. Phytoplanktons

B. Grasshopper

C. Zooplanktons

D. Fishes

Answer: A

° Watch Video Solution

108. Which of the following is a tertiary consumer ?

A. Zooplanktons


https://dl.doubtnut.com/l/_bZuETy2wvxNm
https://dl.doubtnut.com/l/_h1UEVnjes3c0

B. Lion

C.Birds

D. Wolf

Answer: D

° Watch Video Solution

109. Natural reservoir of phosphorus is

A. Sea water

B. Animal bones

C.Rock


https://dl.doubtnut.com/l/_h1UEVnjes3c0
https://dl.doubtnut.com/l/_zWOCY9GjYmeN

D. Fossils

Answer: C

° Watch Video Solution

110. Secondary productivity is rate of formation of new

organic matter by:

A. Producer

B. Parasite

C. Consumer

D. Decomposer


https://dl.doubtnut.com/l/_zWOCY9GjYmeN
https://dl.doubtnut.com/l/_smN4feV3KcQe

Answer: C

° Watch Video Solution

111. Which one of the following processes during

decomposition is correctly described?

A. Fragmentation - Carried out by organisms such

as earthworm.

B. Humification - Leads to accumulation of a dark

coloured substance called humus, which

undergoes microbial action at a very fast rate .


https://dl.doubtnut.com/l/_smN4feV3KcQe
https://dl.doubtnut.com/l/_AFey4R6NP9Nk

C. Catabolism - Last step in the decomposition

under fully anaerobic condition

D. Leaching - Water soluble inorganic nutrients rise

to top layers of soil.

Answer: A

° Watch Video Solution

112. The first stable product of fixation of atmospheric

nitrogen in leguminous plants is

A.NO;

B. Ammonia


https://dl.doubtnut.com/l/_AFey4R6NP9Nk
https://dl.doubtnut.com/l/_tQZCTUcynxMC

C.NO;

D. Glutamate

Answer: B

° Watch Video Solution

113. Detritivores break down detritus into smaller

particles. This process is called

A. Leaching

B. Fragmentation

C. Humification

D. Mineralization


https://dl.doubtnut.com/l/_tQZCTUcynxMC
https://dl.doubtnut.com/l/_vpHq0nidwLnH

Answer: B

° Watch Video Solution

114. The correct sequence of seral stages in hydrosere

is:

A. Plankton , submerged , floating , reed swamp,

sedge meadow, woodland

B. Plankton , floating , submerged , reed swamp ,

sedge meadow, woodland

C. Plankton , submerged , floating , sedge meadow,

reed swamp, woodland


https://dl.doubtnut.com/l/_vpHq0nidwLnH
https://dl.doubtnut.com/l/_63k5L5xvAVAi

D. Plankton , submerged , floating , sedge meadow,

woodland , reed swamp

Answer: A

° Watch Video Solution

115. Pyramid of energy is :

A. Always inverted

B. Always upright

C. Sometimes inverted sometimes upright

D. None of these


https://dl.doubtnut.com/l/_63k5L5xvAVAi
https://dl.doubtnut.com/l/_WPq4vzTjQKKI

Answer: B

° Watch Video Solution

116. If 20 J of energy is trapped at producer level, then
how much energy will be available to peacock as food
in the following chain?
Plant — Mice — Snake — Peacock

A.0.2 ]

B. 0.0002 )

C.0.02)

D. 0.002 J


https://dl.doubtnut.com/l/_WPq4vzTjQKKI
https://dl.doubtnut.com/l/_bBIDmnGZA9Nq

Answer: C

° Watch Video Solution

117. Macth the following and select the correct option.
(a) Earthworm (i) Pioneer species
(b) Succession (ii) Detrivore
(c) Ecosysem service (iii) Natality
(d) Population growth (iv) Pollination
A1 (i) 2 (i) 3 (iv) 4 (i)
B.1(ii) 2 (i) 3 (iv) 4 (iii)

C.1(i) 2 (i1) 3 (iii) 4 (iv)

D. 1 (iv) 2 (i) 3 (iii) 4 (ii)


https://dl.doubtnut.com/l/_bBIDmnGZA9Nq
https://dl.doubtnut.com/l/_qyw1pbKuPGGw

Answer: B

° Watch Video Solution

118. Given below is a simplified model of phosphorus

cycling in a terrestrial ecosystem with four blanks (A-

D). Identify the blanks.

D

P - Uptake
Run off
T
L a B c P .|
',r' (a) Producers Litter fall Rock Detritus '
“ minerals
. (b) Rock Detritus Litter fall Producers
minerals

(c) Litter fall Producers Rock Detritus

minerals
(d) Detritus Rock Producers Latter fall

minerals


https://dl.doubtnut.com/l/_qyw1pbKuPGGw
https://dl.doubtnut.com/l/_ZrgYsylvD3Ka

A B C D

Detritus Rock minerals Producers Litter fall

A B C D

Producers Litter fall Rock minerals Detritus

A B C D

Rock minerals Detritus Litter fall Producers

A B C D

Litter fall Producers Rock minerals Detritus

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ZrgYsylvD3Ka

119. In a food chain, herbivores are:

A. Primary producers

B. Primary consumers

C. Secondary consumers

D. Decomposers

Answer: B

° Watch Video Solution

120. Ecotone is

A. A polluted area


https://dl.doubtnut.com/l/_jy5YnzOQfeVf
https://dl.doubtnut.com/l/_UbNg6Yq7DFLR

B. Bottom of a lake

C. Atransition zone between two communities

D. A zone of developing communities

Answer: C

° Watch Video Solution

121. Vertical distribution of different species occupying

different levels in a biotic community is known as

A. Divergence

B. Stratification

C. Zonation


https://dl.doubtnut.com/l/_UbNg6Yq7DFLR
https://dl.doubtnut.com/l/_HPemW7acc7aX

D. Pyramid

Answer: B

o Watch Video Solution

122. Secondary succession takes place on/in

A. Bare rock

B. Degraded forest

C. Newly created pond

D. Newly cooled lava

Answer: B



https://dl.doubtnut.com/l/_HPemW7acc7aX
https://dl.doubtnut.com/l/_e8AljYbDcJyF

l o Watch Video Solution J

123. The mass of living material at a trophic level at a

particular time is called

A. Gross primary productivity

B. Standing state

C. Net primary productivity

D. Standing crop

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_e8AljYbDcJyF
https://dl.doubtnut.com/l/_M9fV0lVOroyG
https://dl.doubtnut.com/l/_cSU0reOIT2Cc

124.1n an ecosystem the rate of production of organic

matter during photosynthesis is termed as:

A. Net primary productivity

B. Gross primary productivity

C. Secondary productivity

D. Net productivity

Answer: B

° Watch Video Solution

125. During biological nitrogen fixation, inactivation of

nitrogenase by oxygen poisoning is prevented by


https://dl.doubtnut.com/l/_cSU0reOIT2Cc
https://dl.doubtnut.com/l/_jtzLuvgNIFf6

A. Leghemoglobin

B. Xanthophylls

C. Carotenes

D. Cytochrome

Answer: A

° Watch Video Solution

126. In which of the following both pairs have correct

combination ?


https://dl.doubtnut.com/l/_jtzLuvgNIFf6
https://dl.doubtnut.com/l/_e00zQLWddAkc

Gaseous nutrient cycle Carbon and nitrogen

a) Sedimentary nutrient cycle | Sulphur and phosphorus
Gaseous nutrient cycle Carbon and sulphur

) Sedimentary nutrient cycle | Nitrogen and phosphorus
Gaseous nutrient cycle Nitrogen and sulphur

) [ rentary riatent ek - LC Ry Rdph eies

@ Gaseous nutrient cycle Sulphur and phosphorus
Sedimentary nutrient cycle | Carbon and nitrogen

o Watch Video Solution

127. During ecological succession

A. Gradual and predictable changes in species

B. Establishment of a new biotic community is very

C. Number and types of animals remain constant

composition occur in given area

fast in its primary phase



https://dl.doubtnut.com/l/_e00zQLWddAkc
https://dl.doubtnut.com/l/_4MOHRQYvCHqb

D.Changes lead to a community that is in near

equilibrium with the environment and is called

pioneer community

Answer: A

° Watch Video Solution

128. Most animals that live in deep oceanic waters are:

A. Primary consumers

B. Secondary consumer

C. Tertiary consumer


https://dl.doubtnut.com/l/_4MOHRQYvCHqb
https://dl.doubtnut.com/l/_3lnD5NvxZyI7

D. Detritivores

Answer: D

o Watch Video Solution

129. Earthworm is a

A. Herbivore

B. Secondary consumer

C. Tertiary consumer

D. Detritivore

Answer: D



https://dl.doubtnut.com/l/_3lnD5NvxZyI7
https://dl.doubtnut.com/l/_DZ2i16jEasqA

l o Watch Video Solution

130. The first trophic level in an ecosystem consists of:

A. Primary producers

B. Primary consumers

C. Secondary producers

D. Secondary consumers

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DZ2i16jEasqA
https://dl.doubtnut.com/l/_MTgxdLakKccP

131. Select the correct statement :

A. Phosphorus cycle is an example of gaseous

nutrient cycle

B. Pyramid of biomass in sea is generally inverted

C. By the process of humification , soluble inorganic

nutrients go down into the soil horizon

D. A given organism may not occupy more than one

trophic level simultaneously

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SgcRZBeeVWmv

132. The rate of biomass production and the rate of

production of organic matter during photosynthesis

are called respectively:

A. Total productivity, primary production

B. Gross primary productivity , gross secondary

productivity

C. Net primary productivity , secondary productivity

D.Net primary productivity , gross primary

productivity

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NwTPH3Hz6heE

133. Pick out the correct option from (a) to (e).

A. Primary succession begins in areas where natural
communities have been destroyed.

B. Hydrarch succession takes place in water.

C. The climax community is the community that is in
near equilibrium with the immediate environment.

D. In newly cooled lava secondary succession occurs.

A. A and B are correct , C and D are incorrect

B.B and C are correct , A and D are incorrect

C.A and D are correct ,B and C are incorrect

D.B onlyis correct , A, C and D are incorrect


https://dl.doubtnut.com/l/_NwTPH3Hz6heE
https://dl.doubtnut.com/l/_UDpR5wQZodrx

Answer: B

° Watch Video Solution

134. Read the statements regarding a stable
community and choose the correct option :

(i) Must be resistant to occasional disturbances.

(ii) Should show much variation in productivity from
year to year.

(iii) Must be resistant to invasions by alien species.

A. (i) and (ii) are correct

B. (i), (ii) and (iii) are correct

C. (i) and (iii) are correct


https://dl.doubtnut.com/l/_UDpR5wQZodrx
https://dl.doubtnut.com/l/_IAPdYLeRDy6n

D. (i) and (iii) are correct

Answer: D

o Watch Video Solution

135. which of the following is called is called a link

between producers and carnivores in a grassland

ecosystem ?

A. Frog

B. Snake

C. Insects

D. None of these


https://dl.doubtnut.com/l/_IAPdYLeRDy6n
https://dl.doubtnut.com/l/_VZyVt7f2n4CH

Answer: C

° Watch Video Solution

136. Which of the following is secondary production in

an ecosystem ?

A. Grass

B. Goat

C. Lion

D. None of these

Answer: B

I ° Watch Video Solution


https://dl.doubtnut.com/l/_VZyVt7f2n4CH
https://dl.doubtnut.com/l/_kozGRovDp8Q9

137. The pyramid of numbers in a grassland ecosystem

is

A. Upright

B. Inverted

C.Spindle - shaped

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kozGRovDp8Q9
https://dl.doubtnut.com/l/_CqmSxdF9C1e0

138. Which of the following is a correct food chain?

A.Grass — Grasshopper — Frog — Snake —
Eagle

B. Grasshopper — Grass — Snake — Frog —
Eagle

C.Eagle — Snake — Grasshopper — Grass
— Frog

D.Frog — Snake — Eagle — Grasshopper —

Grass

Answer: A

[ ° Wiakt~h \liAAaA CaAliikian



https://dl.doubtnut.com/l/_wWkvwSLVF4lh

 { AA K- LA IR AL A Ar® YA L ALAYIN

139. The primary producers of the

hydrothermal vent ecosystem are:

A. Coral reefs

B. Green algee

C. Chemosynthtic bacteria

D. Blue - green algae

Answer: C

deep-sea

° Watch Video Solution



https://dl.doubtnut.com/l/_wWkvwSLVF4lh
https://dl.doubtnut.com/l/_yrQV9Eqjwtev

140. Which of the following would appear as the

pioneer organisms on bare rocks?

A. Green algae

B. Lichens

C. Liverworts

D. Mosses

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WCxVtyMHwVcE

141. Which of the following is a characteristic feature

of cropland ecosystem

A. Ecological succession

B. Absence of soil organism

C. Least genetic diversity

D. Absence of weeds

Answer: C

° Watch Video Solution

142. The term ecosystem was coined by


https://dl.doubtnut.com/l/_PBTTxqrPhdbe
https://dl.doubtnut.com/l/_QuZYoy4iuOXT

A.E.warming

B. E.P. Odum

C. A.G. Tansley

D. E. Haeckel

Answer: C

° Watch Video Solution

143. Amount of energy transferred from one trophic

level to next is

A. 10 %

B. 90 %


https://dl.doubtnut.com/l/_QuZYoy4iuOXT
https://dl.doubtnut.com/l/_qrP5RuO1c9JG

C.80 %

D. 20 %

Answer: A

° Watch Video Solution

144. Which of the following scientists proposed the

concept of ecological food pyramid ?

A. Blackmann

B. Odum

C. Elton

D. Tansley


https://dl.doubtnut.com/l/_qrP5RuO1c9JG
https://dl.doubtnut.com/l/_PKg0OsVzVslL

Answer: C

° Watch Video Solution

145. In the process of plant ecological succession, the

final stage is :

A. Seral stage

B. Ecesis

C. Climax community

D. Competition

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_PKg0OsVzVslL
https://dl.doubtnut.com/l/_VhxZOWEUIUDX

146. A grazing food chain always starts with :

A. Respiration

B. Decomposition

C. Photosynthesis

D. Nitrogen fixation

Answer: C

° Watch Video Solution

147. Source of energy in an ecosystem is :


https://dl.doubtnut.com/l/_VhxZOWEUIUDX
https://dl.doubtnut.com/l/_WDCVJe7XRhPt
https://dl.doubtnut.com/l/_8vG8Nb9ZcD4I

A. Fermentation of sugars

B. Decomposition of plants and animals by bacteria

C. Photosynthesis by plants

D. Sunlight

Answer: D

° Watch Video Solution

148. Which of the following gas contributes maximum

in global warming ?

A.CH,

B. CO,


https://dl.doubtnut.com/l/_8vG8Nb9ZcD4I
https://dl.doubtnut.com/l/_4WzWfUZ4D6KA

C. Ny O

D. CFSs

Answer: B

° Watch Video Solution

149. Deforestation generally results in reduction of :

A. Drought

B. Soil erosion

C. Rainfall

D. Global warming


https://dl.doubtnut.com/l/_4WzWfUZ4D6KA
https://dl.doubtnut.com/l/_eSx86NU3pgye

Answer: C

o Watch Video Solution

150. Biomagnifications is due to :

A. Mercury

B. DDT

C. Both (a) and (b)

D. Minerals

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eSx86NU3pgye
https://dl.doubtnut.com/l/_yTptJnR7WJSS

151. In hydrarch, which organism constitute pioneer

community ?

A. Phytoplanktons

B. Bryophytes

C. Floating plants

D. Submerged plants

Answer: A

° Watch Video Solution

152. Primary carnivores are :


https://dl.doubtnut.com/l/_PO4VoOuMzaW1
https://dl.doubtnut.com/l/_6reOa1xV1IMu

A. Primary producers

B. Primary consumers

C. Secondary consumers

D. Tertiary consumers

Answer: C

° Watch Video Solution

153. Which ecosystem has the maximum biomass

A. Forest ecosystem

B. Grassland ecosystem


https://dl.doubtnut.com/l/_6reOa1xV1IMu
https://dl.doubtnut.com/l/_GIYlWKurxeW9

C. Pond ecosystem

D. Lake ecosystem

Answer: A

° Watch Video Solution

154. Presence of plants arranged into well defined

vertical layers depending on their height can be seen

best in

A. Tropical Savannah

B. Tropical rain forests

C. Grasslands


https://dl.doubtnut.com/l/_GIYlWKurxeW9
https://dl.doubtnut.com/l/_Rto2Dsy7cWpf

D. Temperate forests

Answer: B

o Watch Video Solution

155. A nitrogen - fixing microbe associated with Azolla

IS :

A. Anabaena

B. Sprirullina

C. Tolypothrix

D. Nostoc


https://dl.doubtnut.com/l/_Rto2Dsy7cWpf
https://dl.doubtnut.com/l/_xOp17DwrRrvy

Answer: A

o Watch Video Solution

156. In a food chain , deers are:

A. Primary producers

B. Primary consumers

C. Secondary consumers

D. Decomposers

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_xOp17DwrRrvy
https://dl.doubtnut.com/l/_NiFqIg1miwhi

157. Which type of pyramid of energy is inverted?

A. Grassland

B. Tree

C. Both (a) and (b)

D. None of these

Answer: D

° Watch Video Solution

158. Energy transferred from one trophic level to

another is


https://dl.doubtnut.com/l/_QR5c2i0KMf5S
https://dl.doubtnut.com/l/_jLuNgBa7CJWx

A. 100 %

B.5 %

C.10%

D. 50 %

Answer: C

° Watch Video Solution

159. What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer: 120 g

Primary consumer : 60 g

Primary producer:10 g


https://dl.doubtnut.com/l/_jLuNgBa7CJWx
https://dl.doubtnut.com/l/_fK7PEQl5Qulb

A. Inverted pyramid of biomass

B. Upright pyramid of numbers

C. Pyramid of energy

D. Upright pyramid of biomass

Answer: A

° Watch Video Solution

160. Which of the following organisms are known as

chief producers in the oceans ?

A. Dinoflagllates

B. Cyanobacteria


https://dl.doubtnut.com/l/_fK7PEQl5Qulb
https://dl.doubtnut.com/l/_sj6q4eAL6qdK

C. Diatoms

D. Euglenoids

Answer: C

° Watch Video Solution

161. In a species, the weight of newborn ranges form 2
to 5 kg. 97% of the newborn with an average weight
between 3 to 3.3 kg survive whereas 99 of the infants
born with weights from 2 to 2.5 or 4.5 to 5 kg die.

Which type of selection process is taking place?

A. Directional selection


https://dl.doubtnut.com/l/_sj6q4eAL6qdK
https://dl.doubtnut.com/l/_K7IzzzxWR7Ip

B. Stabilitzing selection

C. Disruptive selection

D. Cyclical selection

Answer: B

° Watch Video Solution

162. A grazing food chain cannot beging in the absence

of :

A. Carnivores

B. Herbivores

C. Producers


https://dl.doubtnut.com/l/_K7IzzzxWR7Ip
https://dl.doubtnut.com/l/_k2PTWBOXpglp

D. Decomposers

Answer: C

° Watch Video Solution

Competition File Objective Type Questions B Matching

Type Questions

1. Match the terms in Column A with Column B :

Column A Column B
(i) The rate at which organic molecules are formed by a green plant {a) Secondary productivity
(i) UVerays are absorbed (b) Gross primary productivity
(i) The rate of increase of biomass of heterotrophs () Ozone layer
(iv) Nitrogen fixation i (d) Azotobactar 2

° Watch Video Solution



https://dl.doubtnut.com/l/_k2PTWBOXpglp
https://dl.doubtnut.com/l/_jqJmUFO8dPi3
https://dl.doubtnut.com/l/_SuZw4lQnGgJO

2. Match the terms in Column A with suitable terms in

Column B :
Column A Column B
(i) Quercus (a} Crustose lichens stage
(i) Rhizocarpis (b} Primary succession
(i) Succession in water {c} Ecesis
{iv) Barren land (d) Forest stage
(v) Establishment of species (e) Pioneers
{wi) First group of plants in bare area (f) Xerarch
{vii) Dry area () Hydrosere

° View Text Solution

3. Match Column 1 (Indian forest type ) with Column II

(Dominant tree genera) and choose the correct option

Column [ Column IT
(i) Tropical rainforest (a) Huopea
(ii) Tropical deciduous forest (b} Shorea
(ili) Temperate broad-leaved forest {€) Quercus
{iv) Temperate coniferous forest (d) Pinuz

o Watch Video Solution



https://dl.doubtnut.com/l/_SuZw4lQnGgJO
https://dl.doubtnut.com/l/_9PbhER9e210U
https://dl.doubtnut.com/l/_m6Y8tRhtcTih

4. Match the following with correct combination :

Column [ Column IT

1) Cumcute (3 Saprophyte

(i) Eichhornia (b} Pneumatophore
(i) Monotropa () Insectivorous plant
{iv) Rhizophora (d) Parasite
i) Uriculires = ¢l {¢) Root pockets

o Watch Video Solution

5. Match the following with correct combination :

Column 1 J Column IT

A. Earthworm (i} Catabolism

B. Bacterial and fungal enzymes (i) Breaks down detritus into small particles
€. Accunulation of dark coloured amorph b (i) D

i = (iv) Humus

° Watch Video Solution

6. Match the following from column - A with column - B



https://dl.doubtnut.com/l/_m6Y8tRhtcTih
https://dl.doubtnut.com/l/_6aTiim6rZOmr
https://dl.doubtnut.com/l/_tDv9t2cCE53l

‘Column A X . Column B
O e T o
(i) Phytoplanktons i (&) Microorganism
(iv) DNA | @ Proteins

{v) Histones (&) Nucleotides

o Watch Video Solution

Competition File Objective Type Questions C Assertion

Reason Type Questions

1. Assertion : At climax stage , perfect equilibrium
between abiotic and biotic components area cannot
be observed.

Reason: This is due to autogenic and allogenic

succession.


https://dl.doubtnut.com/l/_tDv9t2cCE53l
https://dl.doubtnut.com/l/_I0cDNFLKufPv

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: D

° Watch Video Solution

2. Assertion : The number of pioneers is little . Due to

production of disseminules , the pioneers increases in


https://dl.doubtnut.com/l/_I0cDNFLKufPv
https://dl.doubtnut.com/l/_gh496yhXzySo

number . When community is best suited for a

community, it stabilizes.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_gh496yhXzySo

3. Assertion : In crustose lichen stage , by corroding

action , soil formation occurs but this action is very

slow.

Reason : Crustose lichens produce carbonic acid which

corrodes the rock.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.


https://dl.doubtnut.com/l/_XNA4h46jd9fQ

Answer: A

° Watch Video Solution

4. Assertion (A) : Energy pyramid is slopping.

Reason (R ) : The energy of one trophic level is lower

than another level as we go up.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.


https://dl.doubtnut.com/l/_XNA4h46jd9fQ
https://dl.doubtnut.com/l/_zDoifZ6hOxxX

D. If both Assertion and Reason are false.

Answer: A

o Watch Video Solution

5. Assertion : Alpine frosts consist of dwarf shrubs
mainly of junipers , silver firs and Rhododendrons.
Reason : Alpine forests occur in Himalayas above the

altitude of 3500 metres.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.


https://dl.doubtnut.com/l/_zDoifZ6hOxxX
https://dl.doubtnut.com/l/_xPfagJ84FRKU

B. If both Assertion and Reason are true and reason

is not correct explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: A

° Watch Video Solution

6. Assertion : Recycling of materials is must for the
maintenance of biosphere .
Reason : Because energy flows unidirctionally in a food

chain.


https://dl.doubtnut.com/l/_xPfagJ84FRKU
https://dl.doubtnut.com/l/_WysTzUb801EG

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: B

° Watch Video Solution

7. Assertion : Nitrogen cycle is a perfect cycle.

Reason : Nitrogen remains in circulation more or less


https://dl.doubtnut.com/l/_WysTzUb801EG
https://dl.doubtnut.com/l/_Eo4puudY6Xdv

uniformly.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Eo4puudY6Xdv

8. Assertion : CO5 and methane are called greenhouse

gases.

Reason : These - radiate heat and radiations cause

global warming.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: A



https://dl.doubtnut.com/l/_wUKhynpsjBcd

l @ Watch Video Solution J

9. Assertion (A) : In a food chain members of successive
higher levels are fewer in number.
Reason (R ): Number of organisms at any trophic level
depends upon the availability of organisms which
serve as food at the lower level.

A. If both Assertion and Reason are true and

Reason is correct explanation of Assertion.
B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.


https://dl.doubtnut.com/l/_wUKhynpsjBcd
https://dl.doubtnut.com/l/_ctiZKp3UPZD5

D. If both Assertion and Reason are false.

Answer: B

o Watch Video Solution

10. Assertion (A) : Tropical rain forests are disappearing
fast from developing countries such as India.
Reason ( R ) : No value is attached to these forests

because these are poor in biodiversity.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.


https://dl.doubtnut.com/l/_ctiZKp3UPZD5
https://dl.doubtnut.com/l/_TJ2cnU1EIx9T

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: C

° Watch Video Solution

11. Assertion : No two species within a given
community can have exactly the same niche.
Reason : The habitat of a species together with the

functions forms its niche.


https://dl.doubtnut.com/l/_TJ2cnU1EIx9T
https://dl.doubtnut.com/l/_ze2SOzklkDhI

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B. If both Assertion and Reason are true and reason

is not correct explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: B

° Watch Video Solution

12. Assertion: Red algae contribute in producing coral

reef. Itbr. Reason: Some red algae secrete and deposit


https://dl.doubtnut.com/l/_ze2SOzklkDhI
https://dl.doubtnut.com/l/_IhNATYjGhFnO

calcium carbonate our their walls.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IhNATYjGhFnO

13. Assertion (A) : Animals adopt different strategies to

survive in hostile environment.

Reason (R ) : Praying mantis is green in colour which

merges with plant foliage.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.

Answer: C



https://dl.doubtnut.com/l/_VUkcGo6EKZdA

l @ Watch Video Solution J

14. Assertion:A network of food chain existing together

in an ecosystem is known as food web.

Reason: An animal like kite cannot be a part of a food

web.

A.If both Assertion and Reason are true and

Reason is correct explanation of Assertion.

B.If both Assertion and Reason is not correct

explanation of Assertion.

C. If Assertion is true but Reason is false.

D. If both Assertion and Reason are false.


https://dl.doubtnut.com/l/_VUkcGo6EKZdA
https://dl.doubtnut.com/l/_HEv64NTBgWji

Answer: B

o Watch Video Solution

Chapter Practice Test Section A Multiple Choice

Questions

1. Select the decomposers of the ecosystem :

A. Bacteria

B. Fungi

C. Animals

D. Both (a) and (b)


https://dl.doubtnut.com/l/_HEv64NTBgWji
https://dl.doubtnut.com/l/_2Lz7SVUgOMkV

Answer:

° Watch Video Solution

2. Rate of assimilation of food energy by consumers is

called :

A. Gross primary productivity

B. Net primary productivity

C. Secondary productivity

D. Community productivity

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_2Lz7SVUgOMkV
https://dl.doubtnut.com/l/_KvIwtIFYtilZ

3. What is hydrosere?

° Watch Video Solution

4. An inverted pyramid of biomass can be found in

which ecosystem

A. Forest ecosystem

B. Marine ecosystem

C. Grassland ecosystem

D. Tundra biome


https://dl.doubtnut.com/l/_KvIwtIFYtilZ
https://dl.doubtnut.com/l/_vBTtOjlfshHq
https://dl.doubtnut.com/l/_DIsLezfoChlL

Answer:

o Watch Video Solution

5. Of the total incident solar radiation the proportion

of PAR is:

A. About 50%

B. About 60%

C. About 70%

D. About 80%

Answer:

[ o Watch Video Solution


https://dl.doubtnut.com/l/_DIsLezfoChlL
https://dl.doubtnut.com/l/_kJo2ZsgHscbA

6. Select the denitrifying bacterium :

A. Nitrosomonas

B. Nitrobacter

C. Pseudomonas

D. Escherichia coli

Answer:

o Watch Video Solution

Chapter Practice Test Section B Short Answer Type |

Questions



https://dl.doubtnut.com/l/_kJo2ZsgHscbA
https://dl.doubtnut.com/l/_DGXIlvFXa6lE

1. Define biogeochemical cycle. List two differences

between two types of biogeochemical cycles.

° Watch Video Solution

2. What is xerosere?

o Watch Video Solution

3. What is ecosystem?

° Watch Video Solution



https://dl.doubtnut.com/l/_zCyZXX6xYD5J
https://dl.doubtnut.com/l/_7tL8JNG2j6jw
https://dl.doubtnut.com/l/_rWlQBiWlzx8B

4. State the main difference between primary and

secondary succession. Give one example of each .

° Watch Video Solution

Chapter Practice Test Section C Short Answer Type li

Questions

1. What are benthos?

° Watch Video Solution

2. What are phytoplankton?



https://dl.doubtnut.com/l/_Q6joZufhv4WW
https://dl.doubtnut.com/l/_5SguXWtnlh87
https://dl.doubtnut.com/l/_3C1Iy0UfU8eZ

l @ Watch Video Solution J

3. What is primary productivity ? Give the range of
primary productivity in different ecosystems of the

world

o Watch Video Solution

4. Define decomposition and describe the processes

and products of decomposition.

o Watch Video Solution



https://dl.doubtnut.com/l/_3C1Iy0UfU8eZ
https://dl.doubtnut.com/l/_C2jUAhh1sCRJ
https://dl.doubtnut.com/l/_3KkAAdoHusJT

Chapter Practice Test Section D Case Based Short Answer

Type Questions

1. What are zooplankton?

o Watch Video Solution

2. The organisms deriving their energy from the same
energy source are grouped in same trophic level, while
a series of trophic levels showing repeating eating and
eaten by is called a food chain. These food chains may
be predatory or parasitic or saprophytic chains. In an
ecosystem , no food chain is independent . Different

food chains are interlinked to form a network called


https://dl.doubtnut.com/l/_jR10f0VipKY0
https://dl.doubtnut.com/l/_kcTe54XOwfU3

food web. The food webs operate in both aquatic as
well as terrestrial ecosystems . Answer the following
equations on food chains and food webs :

Why do the organisms of a higher torphic level have
less energy available than those of a lower trophic

level ?

° View Text Solution

3. What is synecology?

° Watch Video Solution



https://dl.doubtnut.com/l/_kcTe54XOwfU3
https://dl.doubtnut.com/l/_KPmBjLFTeTno

4. With reference to carbon cycle , answer the
following :

(@) What are the primary sources of carbon dioxide ?
(b) Why is carbon cycle called a gaseous cycle ?

(c) How are the human activities affecting the carbon

cycle ?

o View Text Solution

5. What is autecology?

° Watch Video Solution



https://dl.doubtnut.com/l/_WzdaBgV6A3mC
https://dl.doubtnut.com/l/_wLlRORbB014J

